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UNITIIL: ELECTRICAL MACHINES

QUESTION

01. Principle of a DC generator isbased on:

@ DC @eeor@ri_Lii Swiki@ b 658161 6185HG8 SiqliueoL WiTe 2_oiTomg)?

A)Faraday's Law of Electromagnetic Induction ;unp@L blesranr 2_hg 6o
gL L Ib

B)Ohm'sLaw /g &1° L b

C)Coulomb's Law ; se.60b0) &1°_L b

D)Lenzs Law ; @evoedreto &1L 1b

02 Which of the following is NOT a type of DC generator?

Spsnab o185 DC Gepeor@ri_L i eucms Dicoeo?

A)Shunt Wound ; exg60011"_ 616w
B) Series Wound / @&nL_ii euens
C)Compound Wound ; &1t & 608 auems

D) Induction Wound ; & coorL_ses 651 61608

03. Armature Reaction in a DC generator causes:

@ DC @O2eor@ri_Lfléo Armature Reaction e16m8 arhu(pésib?

A) Flux Weakening ; snmbs s Slewe ueoid @ emmey
B) Flux Strengthening s &nbs8 Slema ueoib MiSla iy

C) No Effect/ e1h8 s1éa&pb S6ocmen

D) Current Reversal ; iblesr &mmid 1om g 60
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04.Commutation in DC machinesisdone to:

DC gwihSlriisafleo uflonbHmid (Commutation) erghans @&iwtu@HSmg?

A)Reverse the direction of current in armature coil ; S1i @& &1 srpofleo
WlestEnrsd SHlemaemw mbm

B) Increase the voltage / ibesreor(1ps51b 1S s s 8

C) Decrease resistance / er&litiy @& comés

D) Reduce speed ; Bousmsid @ comés

05. Which statement is correct regarding DC shunt motor?

DC exgetor” @i @& s ergy &flwimeorg?

A) Speed isalmost constant ; Geussid Hlemevwireor g
B) Speed decreases with load ; Geonr”_ @i8lafé @ bBUNE Geusib & DS
C)Speed is zero ; Beussid Ly, gound

D) Speed is proportional to load ; Geussib Geon”_(Hé@ Gmumes

06. Which of the following is a method of starting DC motors?
DC @i gyeuéss Sl @ 618) (15 (P OOWITGD?
A)Direct on Line (DOL), Gwpimig eufl i6us &b

B) Auto Transformer ; @y1"_@L 19 7T 65T 610~UMFLOT
C)Star-Delta ; shoLmi-@L 6oL

D) All of the above , sreéveom cuiplés erpid

07. Which of the following isan application of DC motors?

DC @uri_Lmisefledr uwesrum(paserfleo 618 6661 my?
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A)Lathes, Goog 6o
B) Electric trains/ iblesrenn Qs pibgiseir
C) Hoists ; @ammuSletor

D) All of the above ; GBev da. Hlwcmey Sicmeor & &ilb

08.Field winding of a DC generator is connected in series with load in which
type?
a5 DC @Qieeor@ri__fleo yeo & peir (Field Winding) Geom™ (hl_cor @& mLit

Som6ooT HHUUL_L 61608 6187

A)Shunt,; exgegori”
B)Series,; Qs
C)Compound , G5iisema

D) Separately Excited ; seoflwns gmesor_our 1

09. DC compound motor is preferred because:

DC @e&iidsoma Gom_Lmii ergeormed 6d(mHbutiuHiSIms?

A)High starting torque ; D158 i6uds &MbHS E&5)
B) Constant speed / Hlemeowireor Geussid
C) Low maintenance ; @eomibg unmoifliy

D) All of the above ; Siemcor 6 gyid

10. Back EMF in a DC motor is:
DC @om”__nmifleo 6ot lesrammidp (Back EMF) e1g1?

A) Voltage induced opposing applied voltage ; uwesruHis S

1Bl6dT 60T (1955 S SD @ TSNS 2_(HEUT @)D LDI6ST 60T (1 H51D
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B) Voltage applied ; uwstrupg Shw ileér cor (19 S 51D
C)Current in motor ; Gl Bledr &mmib

D) None of the above ; B@ev sTibgH o bl6d6m60

1.Speed control of a DC shunt motor can be done by:

DC exgesor” Gom”_Lmflesr Geuss &1 (Hlium () ertiulg. @&nucomb?

A) Armature voltage control ; &1i@wé &1 tBlereor (1965 &1 (Huum(H)
B) Field flux control / yeb &mbs s Hlewe s Houm(h

C)Both A and B/ A wihmib B Sueor (hin

D) None st ejbleoemeo

12. Which of the following is NOT an advantage of DC motors?

DC @™ Lmisefledr Spasmemld 618 65T GHLD i6060?

A)High starting torque ; 158 Gi6ud8 &MHS F&5)
B) Simple speed control; ereflw Geuss &1 Hioium(p
C) Expensive maintenance ; @&eoeureor urmoifliiy

D) Smooth operation ; @wesremowireor G&weoun (k)

13, Which type of DC generator is used for battery charging?

Gur_Lfl #migy @&iw 61hs 6uemnas DC @epeor@ri_Lii westu(HiHSUUHISImE?

A)Shunt,; exgedori”
B) Series ; @&t
C)Compound ; G&iisoma

D) None/ srgie)bleocmeo
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14. Which of the following statements about commutator is correct?

uflrbob (Commutator) @ Mlés Spaenab eurdSwibd 61 Fflwimeorg)?

A)Converts AC induced in armature to DC; 2ii@wéafléo 2_meunreor AC e
DC <6 wrbhmb

B) Reduces current / iblesr&mmib @& comé @b

C) Increases voltage , tblereor (196 51> iSlsiflé @b

D) None/ srgia|ibleocmeo

15.Consider the following statements regarding series DC motor:

@& DC @Gun’_Lmemrt uh i Spsmemib eumé Slwrbissemer uifl 6o cneor
O & Wwe|lb:

Speed variesinversely with load

High starting torque

Cannot run withoutload

Which is correct? / o181 &flwneorg?

A)1and 2
B)2and 3
C)1and 3
D)All1,2,3

16. Purpose of interpolesin DC machinesis:

DC swibSliisafleo Interpoles uwesrum(iy) e1g?
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A)Improve commutation ;uflonbmsemng GuwbuhHss
B) Increase voltage / iBlssreor(1pé 5 blafse
C)Reduce resistance ; e18lii0y @ oomé &

D) Control speed ; Bouss s51°_(Hloum(p)

17. Which of the following is NOT associated with DC motor maintenance?

DC Guni_Lmi unmo fliyL_er @smL_iSleoeons gy 6181?

A) Brush replacement ; Qizeys, iomimib
B) Commutator cleaning ; ufionmhmib &6 81b Q& iiweo
C) Bearing lubrication ; @uwfiit & ey

D) Rotor winding of AC alternator ; AC SieoL_i@eori”_L_ii Grm”_L_ii &(peir

18. The efficiency of a DC motor isdefined as:

DC Guwni_Lnifledr Himeoflesr auemmiemnm 6rgy?

A) Output mechanical power ; Input electrical power <100
B) Input,Output

C)Speed ; Torque

D) None/, srgieaidléoemeo

19. Which of the following is called as Lap Winding?
Spsnenb org Lap Winding ereor SiemwsstiuhiSms)?

A) Armature winding where each coil is connected to next coil in same
direction / 6@ (H &H(HEHD DiHEHS & (HEHL 6T AHBH Hlemeauieo
S em6uor&H&UIU(HID DTG & & & (HoIT

B) Field winding , yeo &meir
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C) Series winding / @& mLii &qpeir

D) None ergyoyidleoemeo

20.Formula for EMF of DC generator is:

DC @Qg2601@ui_L_fl6dr st & 2_ihs 60 (EMF) &6 5mb orgy?

A)E=PONZ,60A ,E=PONZ,60A
B)V=IR,V=IR

CP=VI,P=VI

D) None  srgia|ibleocmeo

21.Consider the following statements about DC motor care:

DC @uom_Lmi urmofliiys@ O iyemL w eunéSumbiser:
Clean brushes regularly

Lubricate bearings

Adjust field flux frequently

Which is correct?, ergy sflwmeorg?

A)1and 2
B)2and 3
C)1and 3
D)All1,2,3

22, DC motor is mainly used in:

DC @™ (p &&wionss 61rhi@ LWeTUHSSVUHISIDG)?
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A) Hoists s @ammuSletor
B) Cranes, £l@reors6ir
C)Elevators/ 6165@6ul"_L i &6ir

D) All of the above ; er6060om SL_1518 (611D

23. Which of the following is the purpose of DC motor starter?

DC @i’ _Lmii gyeud Slullest Gmnéssid o18)1?

A)Limit starting current ; giené& Wleorammbd & HUubHsHS
B) Increase voltage / iflcsreor (19 51b 155 flé 8
C)Reduce torque / &mibs &68) @ omméa

D) Stop motor ; Guri_Lmi Hmss

24, Which of the following is wrong regarding separately excited DC
generator?

sooflwins gnesor_ Uur L DC Gepeor@ri_L i @mMlds Snasnamibd 6181 &6umiTeot &)?

A) Field winding is supplied from separate source / yeo g peir 60fl epeod Sleo
&UHOT G FwdUL_ L g)

B) Output voltage is adjustable ; @evefluT(H) Wledror (196 &b WwIHME F6r 19 W5
C) Field winding isin series with armature ; yeo & (meir i@ & &(mL6or
@snLfléo 2_drormg)

D) Suitable for laboratory experiments ; Spliien&e L uwesrum(p)

25.Give the possible solution for sparking at brushesin DC motor:

DC @om_L_mifled Slrers, suii Sl Fwmefliiys @ &flwreor Siiey 6166T601?
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A)Improve commutation ;uflonbmsemng GuwbuhHss
B) Replace bearings / @uwflii i my
C)Reduce supply voltage ; iblereor (19651 @& cmmoy

D) Increase speed ; Gousib SifasNés

26. Which of the following affects the speed of a series DC motor most?

DC @snLii G nflesr Boussdomng SiSlsib unSHléE b &Mremrb 618)?

A) Armature current,; Sui@w&&ii 1Ol6dr&MID
B) Field flux / yeo &b s Hews
C)Supply voltage ; Blcsreor (g s 51>

D) Load torque ; Goonl”_ &nib s &6

27. The critical speed of a DC shunt motor isdefined as:

DC exgesori” @om”_Lmfledr “critical speed ” steor susmmuemm @&EWWGLEHID Diemey
61g)I?

A)Speed at which flux becomes zero ; smb58 Slomes L sowib @b Gousid

B) Maximum speed ; oi$lasur”_& Geusid

C) Normal operating speed ; #ngnresor Swéas Goussid

D) Starting speed / guous & Gousid

28. Which statement about DC compound motor is correct?

DC @&iissoma G’ @M6Hs o1& &flwmeorg)?

A)Combines series and shunt characteristics ; @&mLii o mib erg680rL"
& 60T S I8 6T £36076001 8 (&)LD

B) Has only series winding ; @&nL_i&8 & eir ol [HGw 2_sirerg
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C)Cannot run under load ; Geom”_ &@& 1 _unidbs Wiqwng)

D) Has no brushes, Siress. &6oemeo

29.In DC generator, which type gives nearly constant voltage under load?
DC @ig2eor@ri”_1_ifléd Goomi™ &1p siwomii iHlemeviwimeot 16T 60T (19551 &(HID UGS
org)?

A)Shunt ; exgesort

B) Series / @QamLii

C)Compound ; @5iisema

D) Separately Excited ; seoflwna gnesor_cur L

30. Which of the following is a characteristic of series DC motor?

@smii DC @G’ Lmiflesr @ eoorm & Hwibisseifleo 618 6661 my?

A) Speed decreases asload decreases ; Geor”_ @& comuib Guigy Geusid
I15ls &S ns)

B) Speed increases asload decreases ; oo @& eomuib Guigy Geusid
91515116 @ b

C) Speed constant ; Geusib Hlemeowineor g

D) Low starting torque / 16168 &g &&5) & mmoey

31. Armature reaction can be minimized by:

2 _eirens erSliieNesoremer (Armature Reaction) @& emmés 61661601 @&FIWEOMD?

A) Use of interpoles/ Interpoles uwesrum ()

B) Increase voltage / iflesreor(1pd 5> 1Slafsbe
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C)Reduce current, esremmb @ ommé s

D) Add capacitor; Gsun&l_L i G&isHs

32, Which of the following statements about separately excited DC generator
is correct?

sooflwns gresor_tul_ L DC @eeeor@ri_Lii @Mlés o18) &flwimeorg?

A) Field current is supplied externally ; yeb Blesr&mmb Geuefltiym
epoodSleSibibg) euphislUREISIDS

B) Field winding isin series / yeo &peir @&m_ifleo 2_eitens

C) Terminal voltage varies drastically ; iBlereor (19 & &b 1om mub

D) Cannot provide DC output; DC @enefluS(H) &1 (piqwngy

33. Which is the main cause of sparking at brushesin DC motor?

DC Guni_Lmifléd Slredg, #uiSlii arhuHid (&SI STTesord 618)?

A) Poor commutation ; Gwré&wmeor uflombHmid
B) Low voltage / @& comibs 16t cor (196 51D

C) Bearing failure , @uwifits up s

D) Speed too low ; @ausib @ somey

34. Which method is used for starting high voltage DC motors?

2_wi blesreor(pss DC Gon_Lmiser §iauss55h@ 6181 LTUHISSUUHISIDS?

A) Series resistor method ; @&rLit sTHiF0IY (W oM
B) Direct on Line (DOL), @mimq euifl gyeudsin
C)Star-Delta ; shoLmi-@L 6oL

D) Capacitor start, @sun&l_Lii 1618 61D
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35. Purpose of DC motor field flux control is:

DC Guom”_L i yoo sMbsH S Slomea &1 (Hium_1q.651 GHré e 618)?

A) Speed variation ; Geus wrHMID
B) Torque reduction / smibs &68) @& cmmey
C) Voltage increase , tblebreor (1951 islsfloy

D) Current stabilization ; blesr&mmib HlemeoiH mid & 60

36. Which of the following is NOT an application of DC generator?

DC @eeor@mi”_Lflesr uwestum(haserfleo 6181 Sicoco?

A)Battery charging ; Gui_L_fl &migh
B) Electroplating ; steoé1”_ Gum@errt”_1q b
C)Power transmission ; blest ufliomhmib

D) Laboratory experiments,; Spiiend e L vwesrun(p

37.Consider the following statements regarding DC shunt motor:
Speed is almost constant

Can run without load

High starting torque

Which is correct?

A)1and 2
B)2and 3

C)1and 3
D)All1,2,3
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38. Which of the following DC motor is suitable for elevators?

61681@eul’ L (1h&@ @unmdgwreor DC Gom”_Lmi e1g)?

A)Shunt/ exgedori”
B) Series ; @QamLii
C)Compound ; @&iisema

D) Separately excited ; seoflwne gmesor_ o L

39. Which of the following is correct about DC generator efficiency?

DC @eeor@ui”_L_flesr Slmedr @ mls s 18y Fiflwimeor &)?

A) Efficiency = Output, Input x100%
B) Efficiency =Input,Output

C) Efficiency = Voltage x Current

D) Efficiency = Torque ; Speed

40. What is the main purpose of a DC motor starter?

DC @om™_Lmii gyené Slullesr (p&Hlw Grnésid o18)?

A) Limit starting current ; gieué& Wledr&mmb & HUuhHss
B) Increase torque ; &nibg &65) D5 fé6
C)Speed control ; Beusid &1 (HIOun(y

D) Reduce voltage / iblebreor (196 51D @& cmmoy

41. Which type of winding is suitable for high current DC generator?

2 wij lesremmd DC @ereor@ri_L(58@ @uIT(hH&&LomesT & (HET 61608 6T8)?
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A)Lap winding; Lap sapeir
B) Wave winding, Wave ameir
C) Series winding / @&mLii &qpeir

D) Shunt winding , exqegori’_ srpeir

42, Which of the following can reduce sparking at brushes?

Slreisseifléd FUT Sk & ®DES 615 2 &6 b?

A) Interpole , Interpole
B) Increase voltage / ifcsreor (19 51b 155 flé s
C)Reduce speed / Bausib & comé &

D) None  srgya|ibleocmeo

43. Which of the following is correct about DC series motor?

DC @snLii Gum’_Lmi @Més Fflwireor g org)?

A)High starting torque ; 9158 gi6ud8 &MbHS F&5)
B) Constant speed / Hlemeowimeor Geussid
C) Low torque s & comihs &Mbs &5

D) Cannot start under load ; Geom”_ &eveomoco glewrkias (iqwing)

44, Which of the following isa maintenance activity for DC motor?

DC @om™_Lmiflesr ugrmofliy @&wsedun (Hseifleo 6181 660 my?

A) Brush replacement ; Sireyg, iombmib
B) Cleaning commutator ; uflorhmib &8 &b GFinueco
C)Bearing lubrication ; @uwiflii & ey

D) All of the above ; GBev da. Hlwcmey Dicm 60T & GIb

RLA ACADEMY  FIELD ASSISTANT — 590 Click here to Join Group: ® © @



https://whatsapp.com/channel/0029Va9vxooFi8xasVgfCr3O
https://youtube.com/@readylearnachieve8491?si=JdfrtMrAESEttLKI
https://t.me/readylearnachieve
https://www.instagram.com/rlaacademy?igsh=MW0xb3Jyd2lidG9ydQ==

45.In DC compound generator, series winding provides:

DC @aiidome @epeor@ri_Lfléo @GITL i} & (IH6iT 671601 60T QULIHIE S &)?

A) Voltage compensation ; ibleireor (19558 sormii &£
B) Constant speed / Hlemeowineor Geussid
C) High resistance ; @ifl& erHlitiy

D) Field excitation ;e gmesorL_co

46. Which of the following is used to improve DC motor performance?

DC G’ Lmi @&weoSlmedr Gobu(hlds 618 LwesTu(HSSUUHISIDE?

A) Interpoles, Interpoles
B) Series resistor ; @&mLii stHlii0Y
C)Capacitor ; Gasun A _Lif

D) Transformer ; 1q mméedr6ho..umiof

47.Which statement about DC separately excited motor is correct?

DC seoflwns gyresor_ oo Gomc_Lmi @&Mlés 18y Fiflwimeor&)?

A) Field winding is supplied separately ; yeo &peir s60f epeosd SleS(Hibgy & o
@& wOUH SIS

B) Cannot run under load ; Geon”_ &@1"_umid e (piqwing)

C)Hasno brushes , Slre’g. &co6m60

D) Speed variesinversely with load / Geuaib Geor”_(hL_csr omm &
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48. Which of the following is NOT a type of DC motor?

DC Guni’_Lnifledr euemaserfleo 618 Eeoemen?

A)Shunt/ egedori”
B) Series / @QamLii
C)Compound ; @&iisema

D) Induction ; & edorL_gew. 6o

49, Which statement is correct about DC generator excitation?

DC @eeor@ui”_Lii getorL_co @& mMlds &iflwimeor ) o18)?

A) Series, Shunt, Compound types exist s Q&TL1f, ag600TL"_, B&1i 6008 62160788 61T
2 _6IT6IT6oT

B) Only Shunt type exists / ©:96001L"_ 6uema WL (Hb 2_6iToTg)

C)Only Series type exists ; Q&L If 61608 LRI 2_6irem g

D) None/, srgiaidléoemeo

50. Which of the following is the main advantage of DC motors?

DC @i’ Lmisseiflesr (& &I 65T oo 618)?

A) Easy speed control / ereflu Geus &1 [Hiuum(p
B) High efficiency s 2_wi Simesr
C) Low cost / @ oomibg @&evey

D) Constant torque only, Hlemeowneor &mibg &&8) oL (Hib

51. The main principle of AC alternator is based on:

AC SicoLiBeori”_Lfl6dT (&SI & Gloud 6T8HMHBE Diq IUEHL WINE 2_6iTom&)?
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A)FaradaysLaw ,unr@L &1"_Lib
B) Lenz's Law ; @evedreio &1°_L1b
C)Ohm's Law / gib &1 L b

D) Coulomb's Law ; se.6000) &1°_L_1b

52, Which of the following is NOT a part of an alternator?

3oL fGeorL_Lfledr unsmhiseifled 6181 E6o6m6o?

A)Rotor , Gom_Li
B) Stator / ero@L1"_Lif
C) Commutator ; uflomibm

D) Slip rings / 6roeSIts frbisio

53. Which type of alternator is commonly used in power stations?

lest&mr Hlemeowrbisefled GuTgHITES LWETUHSSUIUHID oL FETL L I eucms
61g)I?

A) Salient Pole ; @eroeSlwesri” GunrBGoo

B) Cylindrical Rotor ; &ieSiesori”_fles 6o Gomi_1L_ii

C)Series Wound / @sn_ii& 88 sqpoir

D)Shunt Wound ; eg6dori”_ & (meir

54, Parallel operation of alternators requires:

DIOL_FG6oTL_L 18 6m6IT E365600TH & S E NS @ 6T65T 60T B8 oI 6T 5)?

A)Same voltage and frequency ; 2188 Wleireor (19S5 HMID HBS
21511 V6216801

B) Different voltage ; @euc@eum) 1bledr 6ot (195 51D
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C)Only same phase sequence / 2188 uné euflens wI°_(Hitb

D) None/ srgie)bleocmeo

55. Which of the following is a characteristic of salient pole alternator?

B&odlwesr Bumr@eo 1oL FBeoTL” L i & cvorm SlFlwibiseifleo 618 69661 my?

A)Low speed / @oomibs Gousid
B) High speed ; @185ls Goussid
C)Requires DC excitation only , DC gnesorL_6o w1 (b

D) No field winding / yeo & meir Seoemeo

56. Which of the following is NOT a type of three-phase motor?

e 6dT M) HL_L OI6ST & 60T &6ifl6oT AuemE&aTled 618 Bicd6v?

A) Squirrel cage induction motor ; sivdefreo G&sh
B) Slip ring motor ; sto6Sl) flb Guom”_L_mi
C) DC shunt motor ; DC exgesori” Gom_Lmii

D) Synchronous motor ; & $lema G _Lmi

57. Which starter is commonly used for three-phase induction motors?
eY 6T M) B L S emeor LOIGST & 60T &6iT HIsE6S5S5IhE GlungIeuTs 618
vwesTU(HSSUUHISIDEI?

A) Star-Delta Starter / sroL_mi-@L_6oL_ geudsibd

B) DOL Starter ; @miiq euifl gyeudain

C) Auto Transformer ; @p1° @L1 1q mM6dT 60UMFLON

D) All of the above , sreéveom cuibles erpid
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58. Which statement is correct about three-phase induction motors?

e 6T M) HL_L_ E6meoor LIGHT & 60TITLg &6iT & D158 &iflimeor gl 6187

A) Rotating magnetic field is produced by stator ; 6r0@L1"_L if &Mibs Hloms
2_(HoUM&H @& D

B) Rotor produces stationary field ; @rm”_L_if Hlemeowneor &mibg Hlews

2 _(IHeUN& G D

C)Can operate on DC supply ; DC ifleireor (19656 Sl6o Swibicg b

D) None/ srgia|ibleocmeo

59.Single-phase induction motor starting methodsinclude:

0Q(IH HL_L_ &emeoor G LM FI6NsE (Lp GHMEGIT:

A)Capacitor start ; Gsur &L ii gieudsid
B) Split phase ; siolefl"_ un s

C)Shaded pole ; BagL 1" Bur@eo

D) All of the above / 16060 a1l (EHID

60. Which of the following is a characteristic of synchronous motor?

005 Sloms Gl L @ ovorm Sl Fwhissetleo 618 6965T m)?

A)Rotor rotates at synchronous speed ; @uni’_Lii & Hlome Gous s Sloo &ipepid
B) Variable speed with load ; @eom™_(hL_e5r @eussibd wmmytb

C)Cannotrun on AC/,AC eyeotd Swihs (Wiq wing)

D) Always single-phase s st @umgyib p(m &1L
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61. Which of the following is NOT associated with AC motor maintenance?

AC Gun_Lmi upmofliyL_er @&LiSléoeons g 6181?

A) Bearing lubrication ; @uwflia & fey
B) Stator winding inspection ; 6to@L1"_L_if & (meir ufI@ &g cmeor
C)Commutator cleaning ; ufliormbmib &8 51b

D) Checking rotor insulation ; @um_L_ii ey Hl@unpeir ufl@an s cmcor

62. Three-phase induction motor slip is defined as:

eedTm) &L Semeoor Gom”_Lmij “slip” eTeor euemmuemnm GELUU(HIbD Sierey:

A) (Synchronous speed - Rotor speed), Synchronous speed x100%
B) Rotor speed ; Synchronous speed x100%
C) Load torque / Input torque x100%

D) None/, srgioidléoemeo

63. Which of the following is the main purpose of star-delta starter?

oL Mi-@IL_6oL_1T gloudSlullest (p &S Crnésib:

A)Reduce starting current, gyenés Wleor &b @& ommoy
B) Increase starting torque ; 6168 &MbHs &&5 ASlafloy
C)Reduce operating voltage , @&webun”_ () T eor(1p S 51D @ DME)

D) Speed control ; @eusid &1 (Hium(p)

64. Single-phase motors are mostly used in:

6(15 &L G L miseir @uIpbumeIb 6T1hi@E UIESTU(HSSUIU(H&EI6oTmeoT?
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A)Household appliances/ fit_() #ngcoriuseir
B) Small fans; &ilw eNAdleseir
C) Pumps ; ubtiseir

D) All of the above ; GBev da. Hlwcmey Sicmeor & &ilb

65. The synchronous speed of a motor depends on:

615 Gom”_Lmfleir 65 Sloms Goussib 6185 MG FmihsHS)?

A) Supply frequency and number of poles 1ler 1HFG6v6tor OHMID HMHS
Slem&safleot or6vor cofld e

B) Rotor current ; @i’ tbledr &b

C) Load torque ; Goonl"_ &g &85

D) Stator voltage / 6io@L1"_L_ii ibl6iTcoT(19 5 HID

66. Which of the following is correct about shaded pole motor?

CasgL " Gur@ed Gwm_Lmi @mMl&s Fiflwmeorg):

A) Simple construction ; eteflu &1°_L_smiotiy
B) Low starting torque / @&comibs Hiouds &MHS &b
C) Used in fans, el &Ml efleo uwesru(pi

D) All of the above / w@ev s6. Hlcmey Dicmeot & &b

67. Which of the following isa characteristic of AC alternator?

AC oo iiBeorl’_L i @oorm Sl Hlwhiserfleo 618 69 6ot m)?

A)Producesalternating voltage / iommitb 1blebT 60T (195 &b 2_(HEUTE G 1D

B) Rotor is stationary ; Gumi_L_ii fhlemeowimeor gy
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C) Always DC output ; srts@ungib DC @evefluT(i

D) Requires brushes for operation ; Swrhis Slireis @& cmey

68. Which of the following is NOT an application of three-phase induction
motor?

ewedrm &L &emevor G _Lmiflesr uwssrum(hsserfled 618 Sicoco?

A) Pumps, ubtiser
B) Conveyors  &neor@euwiseir
C) Lathes, Bevg 6o

D) Battery charging ; Gui”_L_fl &migd

69. The rotor of a slip ring induction motor is:

6069101 i & emevor Gom”_Lmifledr Gome_L_i:

A) Wound type / sxqpeir cucme
B) Squirrel cage type / shodefilreo Ga gl aviomas
C)Permanent magnet, Hlrbsr &b

D) None/, srgiaidléoemeo

70. Which of the following is NOT a type of AC motor starter?

AC @i gloué & aucmssofled 618 Dicoeo?

A)DOL ,@mmg euffl
B) Star-Delta ; sroL_mii-@LcoL_i

C) Auto Transformer ; @p1° @L1 1q mM6dT 60UMFLON

D)Lap Winding / Lap &meir
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71. Three-phase induction motor torque is maximum at:

ewediT M &L Semevor Gonl_Lmi &Mhs &6l SSlesul_gib eriiGung)?

A) Starting , 16680
B) Fullload / ap g Geom"
C)Noload / @eonri”_ &eveonioco

D) Half load ; ®iemr Goomi™

72. Which of the following is called squirrel cage motor?

oo &eflTeo G& gl GomL_L i 6T65T M) 6T6mS & MeVT?

A)Rotor barsare short-circuited ; @umi’_L_if umiser @ mis & (H OFLWOILL L cmey
B) Rotor is wound type ; @umi”_L_ij &(H6iT 6ucma
C)Requires brushes, Gireis, G5 cme

D) Field winding in series ; @&mi_fleo 160 &r(peir

73. AC motor care includes:

AC Guni_Lmi unmofliy @&weoun (Hsei:

A)Bearing lubrication ; @Quwiflii & fley
B) Cleaning stator and rotor s 6ro@L1"_L i o myd Gum’_Lif && &b
C)Checking insulation resistance , e (H@unper ufl@&n s cncor

D) All of the above / Gw@ev sa Hlicmey Dicmeot & &b

74. Which of the following isNOT an application of AC motors?

AC @ur_Lnmiseflesr uwesrum(paselfleo 6181 Sicoeo?
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A) Pumps, ubtiser
B) Fans, eN&AmMlseir
C) Lathes, Goog 6o

D) Battery charging ; Gui_L_fl &niigp

75. Which statement about synchronous alternator excitation is correct?
005 5loms DicoL_[FBeoTL”_LIf HiTesorL_6o @& MIs s &iflwimeorg:

A)Can be separately or self-excited ; sefluns Sicocog) &w gimesor_epi_edr
S(H&H&H60MD

B) Always series type s sT1@uigyib Q&L IT 6uomes

C)Only shunt type ; 36801 63608 L_(Hib

D) None  srgya|ibleocmeo

76. Which method is used to control the speed of a DC shunt motor?

DC exgetor” Guon”_Lmi Gousdoms &1 (HUuHiHsS LesTU[HISHID (WP DD 6T8)?

A) Flux control ; &mb88 SHlewe s1_(HOum()
B) Armature resistance control ; &1i@Gwé& &ii e1Hliitiy &1 (Hioun(h)
C)Both A and B/ A wihmib B Suegor(Hin

D)None/ stgie)bleocmeo

77. Which type of DC motor has highest starting torque?

2 wif HIeubs &MHS &8 Gsmeor DC Gum’_Lmi euens orgy?

A)Series,; @QsmLit

B) Shunt ; egesor”_
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C)Compound ; @5iisems

D) Separately excited ; seoflwire gmesor_ oL 1

78. Which of the following statements about DC compound motor is wrong?

DC @aiisoma G Lmi @&mMHs &eumneot & Hm) 6187

A)Provides high starting torque ; 2_wiihg 6w s &MHS &5
B) Speed regulation is good ; @eus &1 (Hluun () Hnibs s
C)Cannot run on ACsupply s AC iblesteor (195865 60 Swirhiss (piqumg)

D) No armature reaction ;2_eiterns 156X 600t smerr &3606m60

79.Consider the following statements regarding AC induction motor:
Rotor speed < Synchronous speed

Slipiszeroatnoload

Rotor rotates faster than synchronous speed

Which is correct?

A)1only
B)2and 3
C)1and 2
D)All123

80. Which statement is correct about synchronous motor under no load?

Boor” Govoors s Slems G Lmi @MlHs sflwreor se bHm) 618)?
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A)Draws only magnetizing current, &nibg gmesor_eo Wlesr&mmib i’ (HELw
B) Draws full load current , (p (i oo iblesr &mmid
C)Rotor lags supply ; @mmi__ii tBlebr 601 (19656 S @ Sledr cor el

D) Cannot start / gleuikis (Wwiqwngy

81. Which of the following isan advantage of AC motor over DC motor?

AC @um”_Lmi DC @G’ L_nemrefil medremio 618)?

A) Simple construction ; ereflu &1°_L_emiptiy

B) Less maintenance / @ eomibs urmoifliy

C)Can run on AC supply s AC euprtiseo

D) All of the above ; GBev ge Hlwcmen Sicmeor & Gilb

82. Which of the following is used to reduce harmonicsin alternator output?
3oL fGeorL_L i @eveflufi’ g 60 ammireils @ & emer & emnés 618
uwesTU(HSSUU(HISIDEI?

A) Skewed rotor ; smiiey Grmi_L_it

B) Interpoles, Interpoles

C)Capacitor ; Gasun S _Lif

D)Shunt winding ,; exg 6oL’ sxpeir

83. Which of the following AC motors can operate on single-phase supply?

®(p &L bletreor(1ps5 8 AC G L miser 61hs acma Swibi@b?

A) Single-phase induction motor, e &1L Sevevor G _Lmi

B) Three-phase squirrel cage motor / epesr my &1L eivéseflreo Ga gl
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C)Slip ring motor / 6to 68l Mk Gom_Lmif

D)Synchronous motor, & &leme Guom_Lmi

84. Which of the following is called DOL starter?
DOL gi6us:8) ercor 61608 d6r myci?

A)Direct on Line, @mmg eufl gyoudeid
B) Star-Delta ; sioL_mi-@L_coL_im
C)Auto Transformer ; @p1"_GL_IT 1q T 65T 610 ~UMFLOF

D) Capacitor start, @sun&l_L i 1618 61D

85. Which type of DC motor is preferred for traction applications?

L9 0T 863 65T LWIGSTUM (N85 (01h & 6Tih s euemes DC Gt Lmii uwestu(Hlé SUuHiSmg?

A) Series / Q&L
B) Shunt,; exqedori”
C)Compound ; @5iisema

D) Separately excited ; seoflwune gmesor_ oo L

86. Which formula is correct for slip in induction motor?

Somowor Gom”_Lmi HeSluSlhseneor sflwmeor &6 Slmib:

A)S=(Ns-Nr),Ns «100%
B)S =Nr,Ns x100%
C)S=Load torque ; Input torque x100%

D) None/ srgie)bleocmeo
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87. Which of the following is NOT a type of single-phase induction motor?

(5 &L Gomeor Gom”_L_miflest eucmnassa6ifled 618 &6o6men?

A) Capacitor start ; @sun &L i §i6u& 61D
B) Split-phase ; stoQlefl”_ un&sid

C)Shaded pole ; @agL1” Gur@eo

D) Slip ring / 6oeSIt fri

88. Which of the following is the main cause of DC motor sparking?

DC @i’ Lmi sui&liki arhu(pleus hHasmeot (p &SI STTesrid:

A) Improper commutation ; eummeor uflomHmid
B) Low voltage ; @ »mibs bledreor (196 51D
C)Over lubrication / @if& & fley

D) Rotor fault , Gumi_L_ii Slemip

89. Which method is used for controlling speed of three-phase induction
motor?
eweT M &1L Soemeoor Gor L GaussHons &L (HUu[HSS 6THS (Y MM

uwesTU(HSSUUHISIDEI?

A)Rotor resistance control ; @um_L_if er&idy &L (HOum(H)
B) Voltage control / ilesreor(1p$ s &1 Hium(p)
C) Frequency control ; &i8lii@euesor &1 (Hioum(y)

D) All of the above / Bw@ev s6 Hlicmey Dicmeot & &b

90. Which of the following AC motors has highest starting torque?

AC Gun_Lnisefléo D15 g161656 &bs &6 @Q&T600TL &) 6T8)?
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A) Squirrel cage motor ; shoéedlireo s sh
B) Slip ring motor ; 6068 ik
C)Shaded pole motor ; @BagL 1" GunrBeo

D)Synchronous motor,; @& Slene

91. Which of the following is used to maintain voltage in alternator?

SicoL_[FGeor”_L_fl6b 1Dl6dT 60T (195855 608 HlemeombiTl” L 678 LWETU(HSSUUHISIDS)?

A) Voltage regulator ; iBlereor(ip s s &1 HIOU(H
B) Resistor / sr&liitiy
C)Capacitor ; Gasun &AL _Lif

D) None  srgya|ibleocmeo

92, Which of the following is the main care of three-.phase motor?

ewedrm &L Gom_Lmifledsr (wp&Shw urmofliy:

A)Bearing lubrication ; @uwfli & fley
B) Checking insulation ; ey Hl@unpeir ufl@& g emeor
C)Cleaning terminals / (ip emeor &881D

D) All of the above ; GBev da Hliemey Sicmeot & Gilb

93. Which of the following is NOT used for speed control in DC motor?

DC @wom”_Lmifléd Gouss &1 (HlIuM_1g.H@ 6T & LWETUHSSIULTE)?

A) Armature resistance ; it G & &if erHliTIY
B) Flux control ; smbg 8 SHlewe &1 [Houn(h

C) Voltage variation ; ibleéteor (1968 Lo mig 60

D) Capacitor; Gsur &l _Lif

RLA ACADEMY  FIELD ASSISTANT — 590 Click here to Join Group: ® © @ |



https://whatsapp.com/channel/0029Va9vxooFi8xasVgfCr3O
https://youtube.com/@readylearnachieve8491?si=JdfrtMrAESEttLKI
https://t.me/readylearnachieve
https://www.instagram.com/rlaacademy?igsh=MW0xb3Jyd2lidG9ydQ==

94. Which type of DC motor is preferred for hoists and cranes?

Gammilsv (Hisar wibHmib HGresrs emHd@E Cunpsgwmeor DC Gum_Lmi:

A) Series, @smLi
B) Shunt , exgegort”
C)Compound ; @&iisema

D) Separately excited ; seoflwne gmesor_tiu 1

95. Which of the following is correct formula for synchronous speed?

@5 5loms Cousd Slhaneor &flwmeor g,&Smb:

A)Ns=120f ;P
B)Ns=P ,120f
C)Ns=60f,P
D)Ns=P,60f

96. Which of the following AC motor has simple construction and low cost?

eraflu &1°_L_emwiy whHmib &onihs G&Fce| @smeor AC Gum_Lmi:

A) Squirrel cage induction ; s eflreo Gash

B) Slip ring / eioeSits flris

C)Synchronous, @6 §lems
D) Shaded pole ; @agL 1" BurBeo
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97. Which of the following is used to reduce starting current in induction
motor?

Someoor Gom”_Lmifléd G688 LDIGHT FMID @& 6mMES 6181 UIWGTU(HSSUIUHISIDG)I?

A) Star-Delta starter ; sroL_mi-@L_coL_
B) DOL starter ; @mmq. euifl
C) Capacitor ; Gsur&_Lif

D) None/ srgia|ibleocmeo

98. Which statement is correct about AC alternator frequency?

AC SicoLiiBeori”_Lif SiSlif@euetor @& M6 s Fflwimeor e Hmy:

A) Depends on speed and number of poles ; @eusib whmib &1ibs Hlewesar
616007 600f1 & 6 & DI FMTTHS &l

B) Always 50Hz, etts@ungb 50Hz

C)Depends on load / Geont”_ &miha g

D) None/, srgiaidléoemeo

99. Which of the following is the main application of slip ring induction
motor?

o edI ity Semeoor GomL_Lmifledr (W &&Shw uwesTurm (p):

A)High starting torque applications ; i§l& gi616:6 &MHG &6 5 @& cmeuuicor
SL_BI&6IT

B) Fans, eS1&AMlaeir

C) Pumps, ubtiseir

D) Household appliances/ 6fit_ () &ngcoribiser
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100. Which of the following is NOT an application of synchronous motor?

005 5loma Gl Lmiflest uwestum(Hsseifled 618 Di6oeo?

A)Power factor correction ; 1066t &#68) snmresil S5 8D
B) High-speed constant load drives, 2_wif Geuss Hlemeowimeor Qoo
C)Battery charging ; Gui_L_fl &gk

D) Pumping ; uibt) Swésib

101. Which type of DC motor is called constant torque motor?
o1 s euena DC Gumi_Lmi hlemeowireor &b &Sl Gom_Lmij eredr my

Do &&IU[HSIDS?

A)Shunt,; exgesori”
B)Series,; Qs
C)Compound ; @&iisema

D) Separately excited ; seoflwre gnesor_ oo 1

102. Which of the following statementsis correct about commutation in DC
motor?

DC Guwni_Lmifléd uflonbhmibd @&mMlés &flwneor de Hmy 618)?

A) Switching of current in armature coils / S1i@w & &ii srpoTsefleo WledT &My
LM HMLD
B) Rotor always stationary ; @rm’_L_ii e1i@ungyib 1Hlemeowim cor g

C) Increases sparking ; #ui &t i8laMé @b

D) Only used in AC motor s AC @n_L_mfleo 1" (Hib uwesTuHSSILHID
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103. Which of the following is used for speed regulation in DC shunt motor?

DC axgeori’ G Lmi Geus &1 (HUum’_1q MH@ 618 LWETU([HIGSUUHISIDE)?

A) Field rheostat , yeo IGwmeroL_m
B) Series resistor ; @snLii&8s erHliviy
C) Voltage variation ; iflereor(19s s wmbHmib

D) Capacitor, @sur&l_L i

104. Consider the following statements regarding armature reaction in DC

motor:

Causes flux distortion / &mbs &&liefisa Hemsoy armbu(Hibd
Leads to sparking at brushes ; Sireig.&efleo sui &Ik arbHu(hHiid
Increases efficiency ; @gweoSHmesr SiflaMé @b

Which is correct?

A)1and 2
B)2and 3
C)1and 3
D) All123

105. Which of the following DC motors has speed inversely proportional to
flux?

DC Guni’_Lnisefléo @ousid &Mbs s Hleves @ eTHINs Fibhsg):

A)Shunt ; exqedori”

B) Series ; @&
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C)Compound ; @5iisems

D) Separately excited ; seoflwire gmesor_ oL 1

106. Which of the following statementsis correct about DC series motor
applications?

DC @snLii G’ Lmi uwesrun(Haer @&mlds sflwimeor se Hmy:

A) Traction ; @gmL_red uwesTuN (h)
B) Lifts/ eSl01"_ss6ir
C)Cranes, £ @neorasoir

D) All of the above ; GoBev ge Hlwcmen Sicmeor & Gilb

107. Which of the following is NOT a characteristic of DC shunt motor?

DC exgetor” Gom”_L_miflesr @ eoorn &l Hwriisseifled 6181 Sicoco?

A) Nearly constant speed ; gionii hlemeowimeor Geussid

B) High starting torque ; 2_wiihs g16168 &MHs &&HE)

C) Good speed regulation ; 8mibg Gous &L (HUu(H

D) Can be run on AC supply / AC euiprie epi_edr Swibi@ b

108. Which of the following methodsis used to reduce sparking in DC motor?

DC @om”_Lmifléb uii Sl @& ommésa 6181 LW6sTU([HSSULHISIDSI?

A) Use of interpoles / Interpoles uwesru(pé g1 60
B) Increasing load ; Geon”_ 185s8 860
C) Reducing supply voltage / ibleir 6ot (195 51b & 600560

D) Using series motor ; @& Gom™_L_mi uwesru(hé&isco
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109. Which of the following is NOT associated with maintenance of DC
motor?

DC @wom”_Lmi unmofliiyL_esr @& mLiiSleocon s gy:

A) Commutator cleaning ; uflonh ) &&sb
B) Bearing lubrication ; @uwfiri & fey
C) Checking stator insulation ; 6o @L "L ii ey Hi@ummeir uf@& s cmeor

D) Adjusting rotor slip ; Gumi”_L_ii 6ro6SI0) & @& 1S 60

110. Which of the following AC motorsis preferred for fansand blowers?

NEAMI&ET HmIb YEeTTaITE6H& @ 6T8 @UN(HS SLOMTCOT )?

A)Shaded pole ; @agL 1" GurBov
B) Slip ring ; 6toeSIts flri
C)Synchronous, @6 §lems

D) Series motor ; @gnL_if Gom_L_mi

M. Which of the following starter is most economical for small motors?

Hmlw Com”_Lmis©omé@ 6181 Glun([hs S W6t WHMID & DiHS &6 HioudSl?

A)DOL ,@mmg eufl
B) Star-Delta ; sroL_mii-@LcoL_im

C) Auto transformer ; 1" GL1T 19 TT65T 610 ~UMFLOT

D) None/ srgie)bleocmeo
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112. Which of the following is correct about synchronous motor load?

005 5loma Guor_Lmi Geon @Mlss siflwmeorg:

A)Can operate at leading, lagging, or unity power factor / (66t coreoof],
91657 & 61T (61H & 60, SR (IHhISl6oTH S &S SHmTevf]

B) Only lagging power factor / Slesr & 6ir(6m & 60 L (HIGLO

C)Only leading power factor / pebreoremfl L (HGL

D) None/ ergiajbléoemoo

113. Which of the following is used for DC motor speed measurement?

DC Guni_Lmi Geuss g omg iormd s 618 LW6TU(HSSUIUHISIDSI?

A)Tachometer ,Lr@smBr_L i
B) Voltmeter ; @eumeor”_iB1"_L_if
C) Ammeter ; OuinBr_L_ii

D) Frequency meter ; il @euetor BL_L i

114. Which of the following is correct about alternator voltage regulation?

SicoL_FGeoT”_L if IbledT 60T (1958 &1 (HUuum(h & M1ss &flweorg:

A)Change in voltage due to load ; Geoni”_ onHm & Hl66T HNTemTONGS
1bl6dT 60T (19 & B 1D T HMID

B) Only depends on supply frequency , st eor (19651 1SN Gleuesor w1 (HIGLW
Fibs gl

C) Always constant / erti@umgib [Hlemeowimeor g

D) Depends on rotor speed only ; @umi_L_ii Geussid wr”_(HiGw &miha g
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115. Which of the following is an advantage of three-phase induction motor?

ewedT M) &L Semeoor GomL_Lmifledr [h6T 6mLo:

A) Simple construction ; ereflu &1°_L_emiotiy
B) Ruggedness; aueSlemin
C) Low maintenance / @oomibg urmofliy

D) All of the above ; GBev ga Hlcmey Sicmeor & &ilb

116. Which of the following is used for AC motor speed control?

AC Gur_Lmi Geuss &1°_[HUUNL_1q (HE 618 LWETUHISSUUHISIDE?

A) Voltage variation , iblebreor (1968 wmibmid
B) Frequency variation ; 15)liiGlevesor womhHmid
C) Rotor resistance ; Grmi_L_ii er&Hlitiy

D) All of the above ; GBev ge Hliemen Dicmeor & &ilb

117. Which of the following is correct about DC motor armature reaction?

DC @i i@ é&ii er&liieNevoremer @& mlss &iflwmeorsy:

A) Distorts main flux ; w&&Hw sMHs &SHlicisens Homg b @b
B)Reduces torque / smibg &68) @ cmmey
C)Increases efficiency / @&weoHlmeor DiSHs @b

D) No effect/ etibs s1d& D Seocmeo

118. Which of the following is NOT a characteristic of squirrel cage induction
motor?

oiv&ellreo Ga gy G _Lmiflesr @& ooorm Sl Flwhissefleo 6181 &6o6m60?
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A) Simple construction ; ereflu &1”_L_emiotiy

B) High maintenance ; ©i$l& unmofliy

C)Low starting torque / @& oomibs o1& &MHG &5

D) Can operate on AC supply ; AC eupriis 6Sleo Swirki@ b

119. Which of the following is used to start large DC shunt motor?

@uiflw DC exgetori’_ Gom”_Lmeor gieués 618 wedTu(HiSSUUHISIDE?

A)Series resistance s @anLii&SS 1Sty
B) DOL starter ; Gmiigq. auifl gyenéaid
C) Star-Delta starter ; sroL_mi-@L_coL_m

D) Capacitor; Gsun &l _Lif

120. Which of the following is correct about rotor of synchronous motor?

005 Slema G Lmflesr Gumi_Lif @& mMI&s &ifhwmeorg:

A)Rotatesat synchronous speed / @8 & ona Gous s Eleo spepid
B) Rotor lags behind stator / 6o @L1"_Lii Sieéreormed sipepitd
C) Always squirrel cage ; eri@ungyib siodefireo Gagh

D) Series wound ; Qgn_&88 &meir

121. Which of the following is the main disadvantage of single- phase induction
motor?

(1 &L Semevor Gom”_Lmifledt (Y &&hw & emmun (p):

A)Low starting torque / @&conibs louds &MHG &&bH)

B) High maintenance ; ®i$l& unmofliy
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C)Complex construction ; §léa60meor &1L 6ol

D) Cannot operate on AC, AC eupriisseSléo Swiins (piq.wing)

122. Which of the following is correct about DC compound motor?

DC @aiidome Gunl_Lmi @&Més &flwneor gy:

A)Provides medium starting torque / b(HS ST Geuds &MHG &&S)

B) Speed regulation isbetter than series motor ; @euss &L_(HOUN () G&STL I
G’ LreoreilL Amibhs &)

C)Can run on DC supply s DC eupiiiss 6Sieo Swibi@ b

D) All of the above ; GoBev ge Hlwcmen Sicmeor & Gilb

123. Which of the following is NOT used for speed control of DC motor?

DC Guni_Lnifledr @eus &1 (HULM_1q.H@ 618 LWESTU([HGSUIUL MTE)?

A) Armature resistance ; i@ & &if erHli1IY

B) Flux control ; &nbg s SHeoe s (Hioun(p

C) Supply voltage variation , blereor(198 5 wmbHmIb
D) Rotor slip ; @rmi™_L_if 86010

124. Which of the following is correct about care and maintenance of DC
motor?

DC Guni_Lnifledr unmofliy @ mMlés &iflwireor gy:

A) Commutator cleaning ; ufiiorh ) &6 &b
B) Bearing lubrication ; @Quwfli &8y

C) Checking insulation resistance ; ew (H@umr e uf@&n & omcor

D) All of the above ; GBev da. Hlwcmey Dicm 60T & GIb

RLA ACADEMY  FIELD ASSISTANT — 590 Click here to Join Group: ® © @ |



https://whatsapp.com/channel/0029Va9vxooFi8xasVgfCr3O
https://youtube.com/@readylearnachieve8491?si=JdfrtMrAESEttLKI
https://t.me/readylearnachieve
https://www.instagram.com/rlaacademy?igsh=MW0xb3Jyd2lidG9ydQ==

125. Which of the following is used to protect AC motors from overload?

AC @um”_Lmisemer oot iSlaflilleo Smibg UTgISTUIU 618)?

A)Opverload relay ; &185l& Geomi”_ Fomoo
B) Fuse, =0 6ro
C)Circuit breaker, #i&68I_ @& &1

D) All of the above ; GBev da Hlcmey Sicmeor & &ilb

126. Which of the following is the main cause of reduced efficiency in DC
motor?

DC Guni’_Lmifléd @&weoSmedr @ emmeyd@E (W &SIu STTesTid 618)?

A) Copper loss / @eveiterf] (smOLT) Sy
B) Iron loss , &by Swuy
C)Mechanical loss ; SwibSlr Sy

D) All of the above ; GoBev da Hlicmen Sicmeot & Gilb

127. Which of the following is correct about torque of DC shunt motor?

DC exgetor” G nfler smibs 68 @&dlHs sflwneors:

A)Torque < Armature current, Torque < Sui@wé& &if bledT &b
B) Torque « Flux, Torque X &nibss Hloma

C) Torque x 1,Speed ; Torque x 1,8eusid

D) Torque independent of current, Torque Wbleranré gié@ Fmrms g
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128. Which of the following is NOT an application of DC series motor?

DC @s i G’ Lmflesr wesrun (paeifled 618 Dicoeo?

A) Traction ; @&
B) Lifts / eSl01"_ss6ir
C) Fans, el &dlaeir

D) Cranes, &@ueorasoir

129. Which method is used to reduce AC motor starting currentin large
motors?
@uiflw AC Gur_Lmifléd g161u88 Wl6TFMID @& mMEE 6TiHS (LY DM

uwesTU(HSSUU(HISIDEI?

A) Star-Delta starter ; sroL_mi-@L_coL_
B) DOL starter ; @miiq. culfl
C) Capacitor start ; @suTHL_L i sioudsibd

D) No method / ergieb Sev6m60

130. Which of the following is correct about AC synchronous motor power

factor?

AC @68loma Gon’_Lmi #68) snreofl @ M6s sflwreors:

A) Can be leading, lagging, or unity ; (y c5rcoremfl, Sl6or &6iT (65 & 60,
6 (IH1a1 &l 60T H &

B) Always lagging / eri@ungib Setr & 6iT (6158 60

C) Always unity ; eri@ungib 6@ (phIS em6mTHS

D) None/ srgie)bleocmeo
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131. Which of the following is called speed control by flux weakening in DC
motor?
DC Gom”_Lnifléd &mb88 SHeme @omms gy Gous &1 (Hum(h) 6165 @) 6Tem S

g6 Mo ?

A)Field control /yeo &1 (Hloum(h)
B) Armature resistance control ; S1i@uwé &ii erSlivy sLU_(Huum(h
C)Series resistance control  Q&n_i&85 er&Hlitiy

D) None/ srgia|ibleocmeo

132. Which of the following is used to improve starting torque of AC induction
motor?
AC Soneoor Qo _Lmifled geuds &Mbs &65) iblsflés o)

uwesTU(HSSUUHISIDEI?

A) Adding rotor resistance ; Ggmi_Lii 6r&Hii0Iy &IS58 60

B) Increasing supply voltage / hesreor (195 51b 18815560
C) Using DOL starter ; DOL gyeuds &

D) Reducing load ; @eont"_ @& smmé 860

133. Which of the following is correct about DC motor efficiency at full load?

DC Gur_Lmi ap g Goom” GFwcoSmest @& Mles & flwmeor gi:

A)Maximum ; Sifsul_&b
B) Minimum ; @ eombsul_&b

C) Zero /yy, gownd

D) Depends on type / euom& & @) Eniibs g
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134. Which of the following is correct about AC alternator construction?

AC oo iBeori”_Lif &L L_soioliy @& mMlss siflwneorgy:

A) Stator carriesarmature winding ; 6ro@L "L i DiGod & & (Heir
B) Rotor carries field winding ; @umi’_L_if &mibg & meir

C)Both A and B/ A wihmib B Suesor (hid

D) None / srgyayib &eoemeo

135. Which of the following is NOT an application of synchronous motor?

05 Slems G Lmflesr wedTun (Higsetled 618 Dicd6o?

A)Power factor correction ; 1066t && %) snresil H(1H 1D
B) High-speed constant load drives, 2_wit Geuss Hlemeowimeor Qoo™
C) Traction ; @&mL_geo

D) Industrial pumps; @gnidlbh&memeo vibiiser

136. Which of the following is correct about rotor resistance in slip ring
induction motor?

oo eSIt fity Gom_L_mfléd Gumi_L i er&lity @ Mss sflwmeor g:

A) Used for speed control / Geus &1 (Hluun(p)
B) Used for starting torque improvement / gi6ué:& &nhg &éE Goibun(h
C)Both A and B/ A wih o B Sresor (Hid

D)None/ stgiajib &coemeo

137. Which of the following DC motors can be run on AC supply?

AC aupriusseSleo Swibigb DC Guom™_Lmi erg)?
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A)None/, ergya)ib Scocmeo
B) Shunt ,; egesor”
C)Series, @snLit

D) Compound ; @5iisema

138. Which of the following is the main cause of commutator sparking?

uflorb ) FulFSitSlesT (P &SI STresTD:

A)Poor commutation / seumreor uflomhHmid
B)Overload ; @185ls Goomt"_
C) High voltage , 2_wii ilcreor(ips s1d

D) None / srgyeyib &eoomeo

139. Which of the following is the main care of three-phase induction motor?

eweirm &L Semevor Gom_Lmifledr (wp&&Shw ugmofloy:

A)Bearing lubrication ; @uwfli & fley
B) Checking insulation ; ey Hl@unpeir ufl@& g emeor
C)Cleaning terminals / (ip emeor &881D

D) All of the above ; GBev da Hliemey Sicmeot & Gilb

140. Which of the following is called DOL starter?
DOL s1616:8) 61651 1)1 61608 &6 my6ai?

A)Direct on Line ; @mmgq. euffl
B) Star-Delta ; sroL_mii-@LcoL_i

C) Auto transformer ; 1" @L11 1q 65T S0-.UMFLON

D) Capacitor start, @sun&l_Lii 1618 61D

RLA ACADEMY  FIELD ASSISTANT — 590 Click here to Join Group: @ © @ |



https://whatsapp.com/channel/0029Va9vxooFi8xasVgfCr3O
https://youtube.com/@readylearnachieve8491?si=JdfrtMrAESEttLKI
https://t.me/readylearnachieve
https://www.instagram.com/rlaacademy?igsh=MW0xb3Jyd2lidG9ydQ==

141, Which of the following is correct about AC motor efficiency?

AC @i @FweoSHmest &mMlds Fiflwimeorgy:

A) Usually 85-95% , @ungieuns 85-95%
B) Always 100% / e)@umgib 100%
C) Less than 50% / 50%-8@ @& ommeuns

D) Zero /y,gouib

142. Which of the following is used for AC motor protection?

AC Guni_Lnmi ungysmislib@ 618 UWTU([HSSUIU[HISIDG)?

A)Fuse, ~0yp 6o
B) Circuit breaker ; &6 & Q@& a1
C)Overload relay ; ©18l& Goont”_ Fomeo

D) All of the above ; GBev ge. Hlicmen Dicmeor & Gitb

143. Which of the following is correct about star-delta starter?

ooL_Mi-@lIL_6oL_1T ioud Sl @ Mlss Fflwmeor g):

A)Reduces starting current ; g16ud & Wleor FTID @& OMDE @D
B) Increases starting torque ; 6166 &bHs &&55 5&fléE 0D
C) Used for small motors ; 8w Gom”_L_miaomd @

D)None/ stgiajib &coemeo

144. Which of the following DC motorsis called universal motor?

orhs DC Gom”_Lmi wjeofleuiaed Gom™_Lmii 67165t M) SiempsauHiSImg)?
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A)Can run on ACand DC, AC wihmidp DC auprigseSleo Swihi@ b
B) Shunt, egedori”™
C)Series, @snLit

D) Compound ; @5iisema

145. Which of the following is correct about DC motor armature reaction
compensation?

DC Guni_Lmi Sii@ué&ii er&liielleoremern Fwedrauudliy @& mlés &flwmeor g):

A) Interpoles ; @6mL_Bumevaeir

B) Compensating winding ; #wetreuuSliy & peir
C)Both A and B/ A wihmib B Suesor (hin

D) None/, srgiajib &eocmeo

146. Which of the following is correct about AC alternator characteristic?

AC sicoLiiBeori’_Lif @eoornSlHwusser @Ml s Fflwneorg:

A) Voltage increases with load ; Beor”_ nSlafli_cor 16t cor (195 51D
91515116 @ b

B) Voltage decreases with load ; @eom™ i$lesfliyL_eir ilesTeor(195 51D @ SHMUID
C) Voltage independent of load / ibleireor (1968510 Goom”_(H&@ MM s

D)None stgiajib &coemeo

147. Which of the following is NOT a function of DC motor starter?

DC @om™_Lmii gyeué Hlullesr uewfl Dicoeon s g:

A) Limit starting current ; giené& Wleor&MIHoms HL_(HUU([HS S

B) Provide smooth acceleration ; GoeoeSlw 18l Gleuesor gmesor (Hg 6o
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C) Control motor speed continuously / Gom’_Lni Geus s omns @&TLiisHwnes
&L_(HouhHs s

D) Reverse motor direction ; G’ L mi Slem&emw wombHmy

148. Which of the following is the main application of universal motor?

weotlauiaeo Gum’_Lmiflesr (&S uwestum(jH:

A) Domestic appliances, 6"_() &#n& coris eir
B) Industrial drives; @amdibh&neneo Swé shiser
C) Traction ; @&mL_geo

D)Synchronousdrives, 68 $loms Swésihiaser

149. Which of the following is correct about DC shunt motor starting method?

DC exgetor” Gom”_Lmi gleuss (peom & MldHs Fflwimeorg):

A) Use series resistance in armature ; S1i@u&&fleo Q&L eTHlity
B) Direct on Line ; @mimq. euifl
C)Star-Delta ,; shoL_mi-@L_coL_i

D) Capacitor start; @sun&l_Lif 1618 61D

150. Which of the following is correct about care and maintenance of AC
motor?

AC Guni_Lnifledr unmofliy &Mlés &flwmeorgy:

A)Regular lubrication ; &s1_L_mu &&ley
B) Cleaning terminals ; (p smeor 8581

C) Checking insulation / ey (H@unpeir ufl@&n s cmeor

D) All of the above ; GBev da. Hlwcmey Dicm 60T & GIb
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UNITIIL: ELECTRICAL MACHINES

ANSWER AND EXPLANATION

01. Principle of a DC generator isbased on:

@ DC @eeor@ri_Lii Swiki@ b 658161 6185HG8 SiqliueoL WiTe 2_oiTomg)?

A)Faraday's Law of Electromagnetic Induction ; unp@L bledr & 2_ihg 60
gL L Ib

B)Ohm'sLaw /g &1° L b

C)Coulomb's Law ; se.60b0) &1°_L b

D)Lenzs Law ; @evoedreto &1L 1b

Answer: A

Explanation:

A DC generator operates on the principle of electromagnetic induction, as
stated in Faraday's Law.

5 DC Geeor @i hedr&nm 2_hgeo (Electromagnetic Induction)

558161551661 g LiuemL_udled GFweoUhHSIMgI, S& urtT@L &L &&lesr GuUT(mHeE.

02 Which of the followingis NOT a type of DC generator?

Spsnreb o185 DC Oeeor@ri_L i eucma Dicoeo?

A)Shunt Wound ; exq6dor1"_ auems
B) Series Wound ; @it euema
C)Compound Wound ; @&iisoms auems

D) Induction Wound ; & edor_gews 651 6xi6mas

Answer: D
Explanation:

Induction winding isrelated to AC machines, not DC generators.
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S eorL_d6g 601 s AC SwibSHnrhissoné@ enibs g, DC Gear@ri_L (hé@

SI6V60.

03. Armature Reaction in a DC generator causes:

@ DC @g2eor@iri_L_fleo Armature Reaction stems erbu(pgib?

A) Flux Weakening, snbg s $leva usolb @& oemme|
B) Flux Strengthening ; &nmibs 6 $lems ucoid iSl&fiy
C) No Effect, eth8 sméepid S6ocmeo

D) Current Reversal ; iBi66r &mmib wom my s 6o

Answer: A

Explanation:

Armature reaction weakens the main flux, causing voltage drop under load.
2_eitons erSliiellesrene) (Armature Reaction) (p&&w snhs SHlemacmw

& OMEHG D, S eored Goorm” S 1Dl6T 6T (IR5HSID @& OmUILD.

04.Commutation in DC machinesisdone to:

DC gwipSHlriisefleo uflonbmid (Commutation) erghans @&EutiupHSma)?

A)Reverse the direction of current in armature coil / S1i @& &1 sr(pofleo
Wledt&TTs SHlemaemw bmbHm

B) Increase the voltage / ibleireor (195 51D DiSlsflé o

C) Decrease resistance ; er&liiiy @ oomé s

D) Reduce speed ; Goussib @oomés

Answer: A

Explanation:

Commutation ensures smooth DC output by reversing current in coils.
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uflrbhmib (Commutation) speirserled Wleor & Hlemaemw wrmbml Ermeor DC

@aefliur’_eoL 2 miSl @&iuyb.

05. Which statement is correct regarding DC shunt motor?

DC axgegor’ @ Lmi @&Mlds 6181 Fflwimeors)?

A) Speed isalmost constant ; Geussid Hlemeowireor g
B) Speed decreases with load / Geonr_ @i8lafé @GNS Geussib & DS
C)Speed is zero / Beussib 1y gowid

D) Speed is proportional to load ; Geusib Geon”_(Hé@ Gmunes

Answer: A

Explanation:

Shunt motors maintain nearly constant speed under varying loads.
6196001 Bom”_Lmiseir Genss s ems hlemevwimeot Hlemeoulled 60628 S (158 @D,

@oorrL I MINSHELD.

06. Which of the following isa method of starting DC motors?

DC @i gyeuéss S @ 618) 62(1h (P HOWITGD?

A)Direct on Line (DOL), Gwimg eufl ieus &b
B) Auto Transformer ; @y1"_@L 19 7T 65T 610~UMFLOT
C)Star-Delta ; shoLmi-@L 6oL

D) All of the above , sréveom cuiples erpid

Answer: D
Explanation:

DOL, auto-transformer, and series resistances are used for DC motor starting.
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DOL, 1" @Ln ig nmebdreiv-umioii whmib @i er&liity DC Gumi_Lmi

HlWE55 5D @ LW6eTU([HSSUIU([HSIETDGOT.

07. Which of the following isan application of DC motors?

DC @om”_Lmiseflesr uwesrum(haeafleo org 62601 M)?

A)Lathes, Goog 6o
B) Electric trains, ibler&nr @& mibgiaeir
C) Hoists ; @ammufleror

D) All of the above ; GoBev de Hlicmer Sicmeor & Gilb

Answer: D

Explanation:

DC motorsare widely used where variable speed and high starting torque are
required.

DC @i’ Lniseir wmmtb Geusid whHmib Si5s Giouss sMHs &b

@xemoutiu(Hib SL_hiserfled uwesTU([HS HUIU(HSlGTD6OT.

08.Field winding of a DC generator is connected in series with load in which
type?
o DC @e26o1@rri__fl6b Yoo a(meir (Field Winding) Geont”_(Hl_cor @& mLii

SemenT&H5UUL_L 63608 618)7

A)Shunt,; exgedori”
B) Series ; @&t
C)Compound ; G&ii s oma

D) Separately Excited ; seoflwns gnesor_tiu 1
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Answer: B

Explanation:

Series wound generator has field winding in series with armature and load.
Q5L 6uems GlgeeorGri_L i L6d &i(HemHLd nf@Loé & (HL_6or CIGmLif

& 606001 &8 UIUL_(H6IT 6T ).

09. DC compound motor is preferred because:

DC @e&iidsome @i ergeormed 6d(mHbuliuhiSIms?

A) High starting torque ; 188 g1616:6 &1HS &85
B) Constant speed / Hlemeowineor Geussid
C) Low maintenance ; @e»mibg unmofliy

D) All of the above ; Siemeor8gutd

Answer: A

Explanation:

Compound motors combine advantages of seriesand shunt motors for high
starting torque and good speed regulation.

@aiidema G LMi&eT §iouds &Mhs &6 iHsh b mib Gausid Hedeo

&L_(Hluum(h) euLprhiE b

10. Back EMF in a DC motor is:
DC @om”__mifleo 6ot lesr&mmidp (Back EMF) e1g1?

A) Voltage induced opposing applied voltage ; uwesruHis Sl
1bl6dT 60T (1955 S SD @G TSNS 2_(HEUT @)D LDI6ST 60T (I S 51D
B) Voltage applied ; uwetruplg Shw idlesr cor (19 S 51D
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C)Current in motor ; Gumr"_Lmi Oledr &mmib

D) None of the above ; B@ev sTibg o bl6o6m60

Answer: A

Explanation:

Back EMF opposes applied voltage and is proportional to motor speed.
Sebr Blssrmmid LGTURBSIW Blsér e RSEHHDE oTHIIES GrLGLHSDE)

wHmb Gur’”Lri GaussSlh@& Crins SphéEIb.

1.Speed control of a DC shunt motor can be done by:

DC exgevor” Gom”_Lmiflesr Gouss &1 (Hlium () ertiulg. @&nucomb?

A) Armature voltage control ; &1i@wé&ii tblereor (1965 &1 (Huum(p
B) Field flux control / yeb &nibs s Hlewe a1 Houm(h
C)Both A and B/ A wihmib B Sresor(Hin

D) None  stihgejbleosmeo

Answer: C

Explanation:

Shunt motor speed can be adjusted by changing armature voltage or field flux.
agetor” G mfleor Geussid i @Loé &1 1Bl6dT 60T (1R5HBHID Dicd60G) LI6d HMHE S

Slem& MHMICUSET eYeold &L (HUIU(HIS S 60D,

12. Which of the following is NOT an advantage of DC motors?

DC @uni_Lnmisefler S1p&smamib 618 56T 6oL Di6o60?

A)High starting torque ; D15)& giouds SMbHG F&S)

B) Simple speed control / ereflw Geuss s1°_ (Hlium(y)
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C) Expensive maintenance ; @&eoeureor urmofliiy

D) Smooth operation ; @t emiowireor @&weour (k)

Answer: C
Explanation:
DC motorsare known for reliability, not expensive maintenance.

DC @Guoni”_L_nii&eir bibuss &8 65T 6mid aIliih & 6m6, G &eoeaureor LTI Di6o6v.

13, Which type of DC generator is used for battery charging?

Gur_Lfl #migr @&iw 61hs euemas DC @eeor@ri_Lii uwestuHiSSUUHISImE?

A)Shunt ,; exgetori”
B)Series,; Qs
C)Compound ; @&iisema

D) None/, srgioidléoemeo

Answer: A

Explanation:

Shunt generators provide nearly constant voltage suitable for battery
charging.

agetorl_ Glggeor G Lif Gui_ Ll &migk @& Hlemeowwmeor WleoT 60T (195 H1D

QULDIBIG D.

14. Which of the following statements about commutator is correct?

uflorbHmoib (Commutator) @mlés Spsrebd euméd Swib 618 Fiflwimcorg)?

A)Converts AC induced in armature to DC, @i1i@wé&afleo 2_(meureor AC e

DC <36 b mib

B) Reduces current, iblesr&nmibp @& omméd @b
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C) Increases voltage / hssreor (19651 1S5 s @G0

D) None/ srgie)bleocmeo

Answer: A

Explanation:

Commutator ensures that current direction in external circuit is
unidirectional.

uflrHob (Commutator) @evefltiym & mHHufleo Wlesr&mmbd 6 (HiHlemeo & 6T emID

2 mi5l @&ub.

15.Consider the following statements regarding series DC motor:
@& DC @Gun’_Lremrts uh i Spsremib eurmé Slwrbissemer uifl 6o 6neor

O & Wwe)lb:

Speed variesinversely with load
High starting torque

Cannot run without load

Which is correct?, ergy &flwmeorg?

A)1and 2
B)2and 3
C)1and 3
D)All1,2,3

Answer: D
Explanation:

Series motors have high starting torque, speed varies with load, and cannot run

without load.
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@srLif G’ Lni&sEhé@E glouss &b &&5] SiHlsb, Baussid Goom (HLedr

wrm&ng), whHmib Geor’ Ecocomned SWihis (WL WITE).

16. Purpose of interpolesin DC machinesis:

DC swibSlniisafleo Interpoles uwesrum(iy) e1gy?

A)Improve commutation ;uflonbmsemng GuwbuhHsHs
B) Increase voltage / iflcreor (19 51b 155 fls 6
C)Reduce resistance /s er§liivy @ comés

D) Control speed ; Bouss &51°_(Hioum(p)

Answer: A
Explanation:
Interpoles neutralize armature reaction and improve commutation.

Interpoles2_sirens orSHliicNevoronomen @& cmmé & uflonbHms ems GobuHisEIb.

17. Which of the following is NOT associated with DC motor maintenance?

DC Guni_Lmi unmofliyL_esr @smL_iSleoeons gy 618)?

A) Brush replacement ; Siyeyg, iommbmib
B) Commutator cleaning ; uflonhmib &6 8D @&ueo
C)Bearing lubrication ; @uwflii & ey

D) Rotor winding of ACalternator ; AC SieoL_i@eori’_L_ii Gumi”_Lif srpeir

Answer: D

Explanation:

AC alternator rotor winding is unrelated to DC motor maintenance.
AC sieoL_1@eori”_Lii Grmi”_Lij srheir DC Gom™_Lmi unmofliiyL_edr

@anLiilleoeonsg.
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18. The efficiency of a DC motor isdefined as:

DC @uom”_Lnifledr Simeoflesr euemmuemm orgy?

A) Output mechanical power ; Input electrical power <100
B) Input,Output

C)Speed; Torque

D) None/ ergiajbléoemoo

Answer: A

Explanation:

Efficiency =(Mechanical Output - Electrical Input) x 100%.
Smeir = (SwibSlr GeusfluS(H) - lesr 2_drei(H) « 100%.

19. Which of the following is called as Lap Winding?
Spanayib et Lap Winding ereor Siemwpéastiu[hiSms?

A) Armature winding where each coil is connected to next coil in same
direction ; ®@6u@eun(H &IHEHD Si[HSHS & (IHEHL 6T 188 SHlemauSleo

S eneor&&UUHID @& &I si(mHoiT

B) Field winding / yeo a(meir

C)Series winding s @& sx(peir

D) None/ stgie)bleocmeo

Answer: A

Explanation:

Lap winding is used for high current, low voltage applications.

Lap winding ©is lebr &b, @ smmibs W6t eor (1955 LwesTUNL_1g H &)

LWESTUHSSUUHISID S
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20.Formula for EMF of DC generator is:

DC @Qg2601@ui_L_fledr hlsdr & 2_ibs60 (EMF) &6 8mb orgy?

A)E=PONZ,60A /E=PONZ,60A
B V=IR,V=IR

CP=VI,P=VI

D) None/ erg10)Hl6o6meo

Answer: A
Explanation:

. _ Px®xNxZ
EMF formula. E — W

: . _ Px®xNxZ
EMF G&SI01: E = ===

21.Consider the following statements about DC motor care:

DC @uom_Lmi urmofliiys@ O iyemL w euméSumbiser:
Clean brushes regularly

Lubricate bearings

Adjust field flux frequently

Which is correct?, ergy &flwmeorg?

A)1and 2
B)2and 3
C)1and 3
D)All1,2,3

Answer: A

Explanation:
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Brush cleaning and bearing lubrication are main care activities. Frequent flux
adjustmentisnot routine.
Slress, &6 50 wHmIb CuWRli &fe (p&Sw urTofliy HLeg Semssar, Flux

WIHMOID g H&1q O&FIW Geuesoriq W&o 6meo.

22.DC motor is mainly used in:

DC Guni_Lmi (p&Slwions e1rhi@E uwesTu(HlSHSUIUHISIDSI?

A) Hoists s @ammuSletor
B)Cranes, 8 @neorasoir
C)Elevators/ 6165@6ul"_L i &6iT

D) All of the above / eréveom &1L b1 EHID

Answer:D

Explanation:

High starting torque and variable speed make DC motorsideal.

S15)& Glous s HMHS F&S) whHmib wrmib Geuasid DC Gun_Lmisemer Anhssns
@QswwISIDG).

23. Which of the following is the purpose of DC motor starter?
DC @om™_L_mii gyoné Hlullesr Gmmésid o18)?

A) Limit starting current ; gieués Wledr&mmb & HUuhHss

B) Increase voltage / iflesreor(1pé 5 Slafses

C)Reduce torque ; &mhs &68) & onés

D) Stop motor ; Guni_Lmi Hmss

Answer: A

Explanation:
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Starter limits large inrush current at starting.

5w S 665 Slco iSls WleTanT 2_Slif @5Temsomw &L (HUu[HSSHISIDSI.

24. Which of the following is wrong regarding separately excited DC
generator?

sooflwns gnesorL_ Uu L DC Gepeor@ri_Lif @ mMlds Sasnemb 6181 &6umiTeoT &)?

A) Field winding is supplied from separate source / yéo gipeir &60fl eLpeod Sleo
& (ot Gl uiul_L g

B) Output voltage is adjustable ; @euefluT(h) tBledr oot (19 651D WTHME Fer 19 W15
C) Field winding isin series with armature ; yeo g (meir SiF @& &(mHL 6o
@snLfléo 2_drormg)

D) Suitable for laboratory experiments ; Spiiense L vwesrun(p

Answer: C

Explanation:

In separately excited generator, field winding is not in series with armature.
Sootlwns gresorL vl L Geeeor Gri_Lfleo, Lj6d & (peir i@ é & L6t @SmLif

&6m600T HHUULTE).

25.Give the possible solution for sparking at brushesin DC motor:

DC @om_L_nifled Slrers, suii Sl Fwmefliiyd @, &flwreor Siiey 6166T601?

A) Improve commutation ;uflonhmnéemng Guoibuhlds
B) Replace bearings / @uwiflii i my
C)Reduce supply voltage / ibleireor (196, 51b & w6

D) Increase speed ; Gousib i8ls s
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Answer: A

Explanation:

Sparking occurs due to poor commutation: using interpoles and proper brush
adjustmentimprovesit.

Slress, FUFSIh W& ey Gorawmer uflrbHmssmeo abuh&Hms: Interpoles

whHmid Gires sflwret Siemwly eypoob S| SlemL&@Gb.

26. Which of the following affects the speed of a series DC motor most?

DC @snLii G nflesr Boussdomngd SiSlsibd undHléE b &Mremrb 618)?

A) Armature current ; S1i@uw & & 1bleoTFIIID
B) Field flux / yeo &nibs s SHlevs
C)Supply voltage ; Blsreor(ip s s1d

D) Load torque ; Geoni"_ &b s 5655

Answer: A

Explanation:

Speed of series motor varies inversely with armature current due to flux
variation.

@&rLii Gum”_L_miflesr Geusid i@ & &if 1bledT &My LM hm & Sl6oT HMTesoTLnNE

rmSIns).

27. The critical speed of a DC shunt motor isdefined as:
DC exgegor’_ @om”_L_nifledr “critical speed ~ ereor eusmmwenm @ELLBUHID Siemey

61g)?

A)Speed at which flux becomes zero &b 58 SHlomes Ly sounbd @b Gousid

B) Maximum speed ; &18lsul”_& Geussid
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C)Normal operating speed ; #ngnresor Suws e Gousid

D) Starting speed ; g16ud8 Gousid

Answer: A

Explanation:

Critical speed occursif field flux is weakened to zero, causing excessive speed.
&MHSS Hlews LY sowib Heor Gung) Gom’_ L i Sifls CaussSleo ghlb, Song

~critical speed ” e1601 G0 MY SHlBTM GO

28. Which statement about DC compound motor is correct?

DC @B&iidsoma G Lmi @M&Hs erg) &flwmeorg?

A) Combines series and shunt characteristics ; @& o mb exg600r1"
@& 6ooTT S FLIb185 6o6IT &3 6026007 & (&)LD

B) Hasonly series winding ; @gn_i& 83 & meir ol (HGw 2_siten g
C)Cannot run under load ; @eon”_ &@1_unide (Wiq W

D)Hasno brushes, Qireig. &co6mo0

Answer: A

Explanation:

Compound motors provide high starting torque like series motor and good
speed regulation like shunt motor.

@aiisema G L siouss &b F&5 MSlsb (series Gumoo) whHmb Geus

sL_(Hounh Hobsg (shunt Gumev).

29.In DC generator, which type gives nearly constant voltage under load?

DC @g2eor@iri”_1_ifléo oo &1 siwomit Hlemeowwimeor 1ledT6oT(195 S &(HID IGNE

618)?
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A)Shunt ,; exqedori”
B) Series,; @Q&mii
C)Compound ; G&iisema

D) Separately Excited ; seoflwna gmesor_cur L

Answer: A

Explanation:

Shunt generators maintain nearly constant terminal voltage under varying
loads.

ag6torL_ Glgzeor Gri”_L_Fa&6iT ommib Geomt” (H&e1h& @ S Ol6oT 60T (19555 608

iBlemoeommL (Hib.

30. Which of the following is a characteristic of series DC motor?

@i DC @G’ Lmiflesr @ eoorm & Hwibiss eifleo 618 69661 my?

A) Speed decreases asload decreases ; oo @ eomuib Guig) Geusid
15lsfs S s

B) Speed increases asload decreases ; Gooni”_ @& eomuib Guigy Geusid
91515116 @ b

C)Speed constant ; Geussib iHlemeowimeor )

D) Low starting torque ; gyoné s &nbs &&8) & mne)

Answer: B

Explanation:

Series motors have variable speed: speed is high at no load, dangerous if
unloaded.

@sLif G niser Gaus wmmib @ ewrb O\&Tesor_cmey, oo &eoeomned

Coussid S &MEID.
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31. Armature reaction can be minimized by:

2 erens erSliiefesremer (Armature Reaction) @eomés e166rcor Q&Lwe0MD?

A) Use of interpoles/ Interpoles uwesrum ()
B) Increase voltage / iflcreor (19 51b 156 fls6
C)Reduce current, esr&mmbd @ ommé s

D) Add capacitor; Gsun&l_Lif G&FisHs

Answer: A

Explanation:

Interpoles counteract the effect of armature reaction and improve
commutation.

Interpoles2_eirens sréliioMNesoromer 618)id @b wHmb uflorbHms cms

GwbuhHissIb.

32. Which of the following statements about separately excited DC generator
is correct?

sooflwns grnesor_ul L DC @eeeor@ri_Lii @Mlé s o18y Fiflwimeor &?

A) Field current is supplied externally / yeo iblesr #mmb Geuefliiym
epoodSleSip b euphisIu[H SDE)

B) Field winding isin series / yeo & (meir Qg mLifléo 2_eirerg)

C) Terminal voltage varies drastically / iblebreor (198 &b o mib

D) Cannot provide DC output , DC @euefluS(H) &1 (wiqwn g

Answer: A
Explanation:

Separately excited generator hasindependent field supply for voltage control.
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seotlwns gesor_ UL L Glepeot Gri’_Lif 1DlesT6oT (1958 &1 (Huum_1q HE) seofl Led

lesT EMID @& T6ooTL &)

33. Which is the main cause of sparking at brushesin DC motor?

DC @wom”_Lmifléo Slyers, Fui Sl arHuHlid (L &&HIW STresrd 618)?

A)Poor commutation ; Gor&wreor uflwrbHmid
B) Low voltage / @& comibs bledreor (196 51D
C) Bearing failure , @uwfii ug s

D) Speed too low ; Bausib @ cmmey

Answer: A
Explanation:
Improper commutation causes arcing at brushes.

soumieor uflomboib Girerssefleo i &k (sparking) erbuHleus b @ sTresrb.

34. Which method is used for starting high voltage DC motors?

2_wi blesreor(1pss DC Gom_Lmiser §iauss55h@E 618 LETUHISSUUHISIDS?

A) Series resistor method ; @&mL_ii er&litIy (W 6>m
B) Direct on Line (DOL), @miiq euifl gyeudsid
C)Star-Delta ; shoLmi-@L 6oL

D) Capacitor start ; @sun &L if gieusbsibd

Answer: A
Explanation:

Series resistors limit high inrush current during starting.

@sLi erSlTUY Hlous s S S5lo0 D156 WlcsTamT 2 Slii015memssemw &1 (HUu(hs Sib.
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35. Purpose of DC motor field flux control is:

DC @om”_Lmij y6b &MbsS Hlewe L (Huum”iq &t Gnnésib 618)?

A) Speed variation ; Geus wrHMID
B) Torque reduction / &mibs &68) @ ommey
C) Voltage increase , tblebreor (19651 islsfloy

D) Current stabilization ; lesr&mmib HlemeoiH mid & 60

Answer: A

Explanation:

Shunt field flux control allows speed variation by changing field current.
15600TL_ L6 &GS Slema &L (HUum (k) Led Wledt &mib wrhmib eyeob Geusid

LOIT MyID.

36. Which of the following is NOT an application of DC generator?

DC @eeor@ri”_Lflesr uwestum(haseifleo 6181 Sicoco?

A) Battery charging ; Gui”_L_fl &g
B) Electroplating ; ereoss1”_Gumi§lGerrt _iq i
C)Power transmission ; blesr uflimhmib

D) Laboratory experiments, piiedseL vwestum(h

Answer: C
Explanation:
DC generators are not suitable for long-distance power transmission.

DC @eeor@ui”_L iiseir B eor gy wlesr uflonbms Sl @ Gunhs sdleoemeo.

37.Consider the following statements regarding DC shunt motor:

Speed isalmost constant
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Can run without load
High starting torque
Which is correct?

A)1and 2
B)2ands3
C)1and 3
D)All1,2,3

Answer: A

Explanation:

Shunt motors have nearly constant speed and can run without load: starting
torque is moderate.

ageoor”_ G Lmiser Gauss s Sleo Frmeotcmeu, Georm_ &eveormned Swihi@GLb:

Hss &b &5 1DlsT6eoTg).

38. Which of the following DC motor is suitable for elevators?

e16S51Bau”_L (1h&@ @unpdswneor DC @Gom’_Lmii ergy?

A)Shunt ,; exgedori”
B) Series / @smLii
C)Compound ; G&iiéoma

D) Separately excited / eoflwne gmegor_ oo 1

Answer: C
Explanation:

Compound motorsgive high starting torque with good speed regulation, ideal

for elevators.
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@aiisoma Gm L miser 2 wii §ioués &b &8 bmib Heoco Gous

&L_(Huum () euprbi@ b, 6sT6S18auL L (Hé @& Hmibhs &)

39. Which of the following is correct about DC generator efficiency?

DC @e26or@ri”_L_f6dr Simedr & MIsS 6181 Fiflwimeor g?

A) Efficiency = Output, Input x100%
B) Efficiency = Input, Output
C) Efficiency = Voltage ~ Current

D) Efficiency = Torque ; Speed

Answer: A
Explanation:
Efficiency = Mechanical or Electrical output - Input <100%.

Slmeit = @eueflui(p) + 2 _oir6T(H x 100%.

40. What is the main purpose of a DC motor starter?

DC @om™_Lmii gyené Slullesr (p&Hlw Gmnésibd 1g)?

A) Limit starting current ; gieué8 Wledr&mmb & HlUuhHSS
B) Increase torque ; &nibs &68) iSHs s
C)Speed control / Beusid &1 (HOun(h

D) Reduce voltage / blebreor (19 51D @& cmmoy

Answer: A
Explanation:

Starter preventsdamage due to high inrush current at start.

5w S Hia165865 Sl6o iSs WledT &b eypeolb B&sHb &(hé G b.
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41. Which type of winding is suitable for high current DC generator?

2 wij lesremmd DC @ereor@ri_L(58@ @UT(h&LomeoT & (H6T 61608 6T8)?

A)Lap winding; Lap sapeir
B) Wave winding ; Wave &qpeir
C) Series winding / @&mLii &qpeir

D) Shunt winding , exqegort’_ srpeir

Answer: A

Explanation:

Lap winding has multiple parallel paths for high current applications.

Lap 8 (IH6IT 2_wif wledr&mmbd G5 cmeuwimeor SL_15185(6h 6@ U60 &560600T UIT 6088 6061

QIDIHIE)ID.

42, Which of the following can reduce sparking at brushes?

Slreigsatleo FUTSIH @ODES 618 2 &6|D?

A)Interpole ; Interpole

B) Increase voltage / iflesreor(1p6 5> 1Slsfse
C)Reduce speed s Goussib @ oomés

D) None/ srgyo|bleocmeo

Answer: A
Explanation:
Interpoles neutralize armature reaction, improving commutation.

Interpoles2_oitons orSliieHesoromer @& omms gl uflonbHms ems Gwibu(HisHSIb.

43. Which of the following is correct about DC series motor?

DC @snLii QoL mi @mMés sflwireor &) erg)?
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A)High starting torque ; D18)s giouds snbg &&8)
B) Constant speed / Hlemeowinesr Geussid
C)Low torque ; @ oomibs &Mibhs &6

D) Cannot start under load ; @eom” &eveomoeo gleumis (Wiq wirg)

Answer: A

Explanation:

Series motors are used where high starting torque is required, eg., cranes.
@anLii G’ L miser 2 Wi leués &ibhs &6 65 cmauuncr SL_bisefleo

UwesTU(HSHSUU(HID.

44, Which of the following isa maintenance activity for DC motor?

DC @om™_Lmifledr ugmofliy @&weoun (Haseifleo 6181 666T my?

A) Brush replacement ; Sireyg, iombmib
B) Cleaning commutator ; uflionbhmib &8 &b @&iwueo
C) Bearing lubrication ; @uwflia & fley

D) All of the above / Gw@ev sa Hlicmey Dicmeot & &b

Answer: D
Explanation:
Alllisted activities are part of DC motor maintenance.

BuwBev o Hlwemey Siemeord gl DC Gom_Lmi ugmoflinSleo i@ b.

45.In DC compound generator, series winding provides:

DC @&iidome Oepeor@ri_Lfléo @QGITL i & (1H6iT 61651 60T QULTEIE Sl &)?

A) Voltage compensation / it o195 56 &oriis &)

B) Constant speed / Hlemeowinesr Geussid
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C) High resistance / @ifl& er&liioy

D) Field excitation , yeo gmesor_co

Answer: A

Explanation:

Series winding helps maintain voltage under varying load.

@smLii s:pelT mmib Geom”(H&@ & &1 16T 60T (19585 608 Hlemeoblmid &

2 56|b.

46. Which of the following is used to improve DC motor performance?

DC G’ Lmi @&weoSlmedr Gobu(hlds 618 LweTU(HSSUUHISIDE?

A) Interpoles/ Interpoles
B) Series resistor ; @& st&Hlitiy
C)Capacitor ; Gasun S _Lif

D) Transformer ; 1qmmedr6ho. Ui

Answer: A
Explanation:
Interpoles reduce sparking and improve commutation.

Interpoles suii &ty @ oom& g uflonbHms s GbuHSGID.

47. Which statement about DC separately excited motor is correct?

DC seoflwns gyresor_tu L Gomc_Lmi @&Mlés 618y Fiflwimeor&?
A) Field winding is supplied separately ; yeo &peir 60t epeosd SleS(mibgy & e
@swtUHSID S

B) Cannot run under load ; Geoni”_ &@1"_umid e (piqwing)
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C)Hasno brushes, Slree, &6oemeo

D) Speed variesinversely with load ; @eussib @eorr”_(HlL_sbr oM

Answer: A

Explanation:

Field winding getsindependent supply for voltage and speed control.
L6 & (IH6iT Dl6oT 60T (1958 WhH mIb Gaussid &1 (HUUML_Ig HE) &6ofl BledT FmTID
OQuMISIDS).

48. Which of the following is NOT a type of DC motor?

DC Guni_Lnifledr euemassafleo 618y E6o6m60?

A)Shunt,; exgesori”
B)Series,; Qs
C)Compound ; @&iisema

D) Induction ; & edorL_ses. 661

Answer: D
Explanation:
Induction motorsare AC,not DC.

S 601869601 Gom”_Lmigseir AC euemas, DC Sisvev.

49. Which statement is correct about DC generator excitation?

DC @e6or@ui”_L i getor_eo @& mMld s &iflwimeor gy o18)?
A) Series, Shunt, Compound types exist ; Q&ILIT, ©19650TL_, BT 8608 62168 86T
®_ 6IT6IT60T

B) Only Shunt type exists / 6960011 62608 OL"_(HIb 2_6iToMG)
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C)Only Series type exists / @&mLii 6uem& L_(HIb 2_siTen g

D) None/ srgie)bleocmeo

Answer: A
Explanation:
All excitation methodsare used in DC generators.

DC @gncor@rri_L_iiseifléb 616060 HIT6H0TL_60 (L 6HME (6THLD LLIGHTU(H &I 65T HGOT.

50. Which of the following is the main advantage of DC motors?

DC G’ _Lmiseflesr (& & 6ot emio 618)?

A) Easy speed control / ereflu Geus &1 Hioun(p
B) High efficiency /2_wif Simesr
C) Low cost / @ eomibg @&evey

D) Constant torque only, Hlemeowneor &mibg &&8) oL (Hibd

Answer: A
Explanation:
DC motorsallow smooth and wide range of speed control.

DC Gon”_L_miis6ir @Loedr emowimest b mib uribg Geuss &1 (HUUM_emL aIpThIED.

51. The main principle of AC alternator is based on:

AC SicoLiBeori”_Lfl6dT (&SI & Gloubd 6185 MHBE g IUEHL WINE 2_6iTom&)?

A)FaradaysLaw ,urr@L &1"_L1b
B)Lenzs Law ; @eoedreio &1L 1b

C)Ohm's Law , gib &1 L_id

D)Coulomb's Law ; se 60tbts &1"_L_1b

RLA ACADEMY FIELD ASSISTANT — 590 Click here to Join Group: ® © @ |



https://whatsapp.com/channel/0029Va9vxooFi8xasVgfCr3O
https://youtube.com/@readylearnachieve8491?si=JdfrtMrAESEttLKI
https://t.me/readylearnachieve
https://www.instagram.com/rlaacademy?igsh=MW0xb3Jyd2lidG9ydQ==

Answer: A

Explanation:

AC alternators work on electromagnetic induction, as per Faraday's Law.
AC SioLiiBeori’_Liseir hlesrenr 2_fha oo (Electromagnetic Induction) epeotd

@&weou(H&ElesTmeoT, UTTEL &1L §Sl6T ulg..

52, Which of the following is NOT a part of an alternator?

3oL fGeorL_L_fledr unsmiseifled 6181 &6b6m60?

A)Rotor ; Grmi_L_if
B) Stator / ero@L1"_Lif
C) Commutator ; uflomhm

D) Slip rings / 6roeSl1 frbisio

Answer: C

Explanation:

Commutators are used in DC machines, not AC alternators.
uflorhmdlsdr DC SwhSlriisefleo uwestuhdstu@H&lesrmeor, AC

oL TG eor”_Liiseifleo &ooemev.

53. Which type of alternator is commonly used in power stations?

lest&mr Hlemeowrbisefleo GuTgHITES LIWETUHSSUIU(HID oL FETL L I cucms
618)?

A) Salient Pole ; @oroeSlwedr” GunrBoo

B) Cylindrical Rotor ; ieSlesor”_flaeo Gmmi_1_it

C)Series Wound ; @QgnLii& 8 &meir

D)Shunt Wound ; eg6dor1”_ & (meir
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Answer: B

Explanation:

Cylindrical rotor alternators are used for high-speed, large power generation.
&HloSlevor1”_flaseo Grmi”_L_if DeoL_fGeor1”_L_f&meir 2 _wii Geusib, Quifliu &6 5)

2 _HudSlé@E uwesTu(HID.

54, Parallel operation of alternators requires:

DIOL_[TE6oTL_L_[[86m6IT £65600TH 8 E31WéH & QS @ 6T60T 60T (88 6T 60T F)?

A)Same voltage and frequency ; &8s lereor (19S5 wHMID HBH
31517 ©\6v 6o

B) Different voltage ; Gleuci@eoumy 1hledroor (19 651D

C)Only same phase sequence / 2188 uné suflens wI°_(Hitb

D) None/, srgiaidléoemeo

Answer: A

Explanation:

Parallel operation requires same voltage, frequency,and phase sequence.
Someoor S s DiBs 116 60T (1p 5 51D, il Gleuesor b mib uné euflens

@ cmauumeor g).

55. Which of the following isa characteristic of salient pole alternator?

@&oShwedr BurBeo dicoLFBeor” LI @ 6coorm SlFlwhissatleo 618 69651 m)?

A)Low speed / @ oomibs Geusid
B) High speed ; @18ls Goussid

C)Requires DC excitation only , DC gnegorL_6o wo1”_(Hlid

D) No field winding ; yeo &(meir &eoomeo
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Answer: A

Explanation:

Salient pole alternators are used in low-speed applicationslike hydro plants.
@aeSlwedr” BurBev SicoL FBeoTL L [i&6iT & 6mmibhs G6uss LwesTUmL 1g.60,

G Mlouns emam” Grm ueult Hlemeowhisafléo UweTU(HID.

56. Which of the following is NOT a type of three-phase motor?

e 6dT M) &1L LOl65T & 60T &6ifl6oT AuemE&aitled 618 Bi6d60?

A) Squirrel cage induction motor ; shoseNTeo s g
B) Slip ring motor ; 6ro6SI0 fliy Gome_Lmi
C) DC shunt motor ; DC exgetori” Guomi”_L_mit

D) Synchronous motor ; & $lema @ _Lmi

Answer: C
Explanation:
DC shunt motorsare DC type, not AC three-phase motors.

DC exgetor” Gum”_Lmiseir DC euemes, AC eypedrmy 1L Gl L mise6ir Sicoeo.

57. Which starter is commonly used for three-phase induction motors?
eY 6T M) B L S emeor LOIGST & 60T &6iT HIsE6S5S5IhE GlungIeuTs 618

vwesTU(HSSUUHISIDEI?

A) Star-Delta Starter / sroL_mi-@L_6oL_ geudsibd
B) DOL Starter ; @miiq suifl y6udain

C) Auto Transformer ; @p1° @L1 1q mM6dT 60UMFLON

D) All of the above , sreéveom cuibles erpid
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Answer: D

Explanation:

Depending on motor rating, DOL, star-delta, and auto-transformer starters are

used.
Gur_Lmi &St g tuemL_ufleo DOL, shoLmii-@_coLm b mubd <1 G

Lq.TT 65T 60 ~UMF DI G16ud &Sl 6T LWEdTU(HS S UIL(HSIET M 6oT.

58. Which statement is correct about three-phase induction motors?

e 6T M) B L E6meoor LIGST & 60T &6iT & D158 &iflimeor sl 6187

A)Rotating magnetic field is produced by stator ; 6o @L1"_Lif &MH8 Hlows
2 _(HoUM&H @G D

B) Rotor produces stationary field ; @rm’_L_ii Hlemeowneor &nibs Hloms

2 _(IHeUN& G D

C) Can operate on DC supply ; DC ilebreor (1968 8 Sloo Swirbi@ b

D) None/, srgiaidléoemeo

Answer: A
Explanation:
Three-phase AC supply creates rotating magnetic field in stator.

e L AC aupriis e 6v@L 1L ifled spepid &Mbhs Slews 2 (HeuméEb.

59.Single-phase induction motor starting methodsinclude:

0(1H HL_L_ & emeoor GmL_L i §I6NsE (Lp mME6I:

A)Capacitor start ; @sur &L if gieudsibd

B) Split phase ; o §lefl_ unasib
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C)Shaded pole ; BagL 1" Bur@eo
D) All of the above / erébeor euibles erpid

Answer: D

Explanation:

Single-phase motors use capacitor, split-phase, or shaded-pole starting methods.
(5 &L G Lmiser GsurSl_L i, sollefl urssib, Gag 1 GurBGeo

(P D& METU LIWGSTU(HS 8181651 M 6oT.

60. Which of the following isa characteristic of synchronous motor?

05 Slems Gl Lmi @ ooorm Sl Fwbhissetleo 618 6266T m)?

A)Rotor rotatesat synchronous speed ; Guni’_Lii @6 8c0a Gous s SHleo spepib
B) Variable speed with load ; @eom™_(hL_otr Geussibd wmmyib

C)Cannotrun on AC, AC eyeotd Swrins (Wiq wing)

D) Always single-phase ; eT@uirgyib 6(p &1L

Answer: A

Explanation:

Synchronous motors maintain constant speed equal to supply frequency.
05 5lens Gm_Lmisselr Wledr6or (1958 HlTGleuesorsGen (b &1L 6oT

iHlemeowneor Geuss s emg cmeaud & (1h& @ LD.

61. Which of the following is NOT associated with AC motor maintenance?

AC Gun_Lmi unmofliyL_er @&mLiSléoeons g 618)?

A)Bearing lubrication ; @uwflii & fley

B) Stator winding inspection / 6to@L1_L_ii & (Heir ufIG&m & emeor
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C)Commutator cleaning ; uflormbmib &8 81b

D) Checking rotor insulation ; @um_L_ii ey Hl@unpeir ufl@an s cmcor

Answer: C

Explanation:

AC motorsdo not have commutators: cleaning commutator is for DC motors.
AC @ miser uflombmib @sresor_cmey Dicoeo, g DC Guon_Lmisoend@E

@un BHSID.

62. Three-phase induction motor slip is defined as:

eedTm) &L Soemeoor Gom”_Lmij “slip” eTeor euemrwemnm GEUtU(HIb Sierey:

A)(Synchronous speed - Rotor speed), Synchronous speed «100%
B) Rotor speed ; Synchronous speed x100%
C) Load torque ; Input torque x100%

D) None/, srgiaidléoemeo

Answer: A

Explanation:

Slip indicates difference between synchronousand rotor speed.
&60lU 695 Sloms Boussid W md Com_Lif GeussSlesr Goumum”_cmL_&

&I (H&Smg).

63. Which of the following is the main purpose of star-delta starter?

ooL_Mi-@IL_coL_ gloudSlullest (p &S Grrésid:

A)Reduce starting current, gyenés Wledr &b @& ommoy

B) Increase starting torque ; gyoud s &nbHs &&65 MSlafloy
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C)Reduce operating voltage ; @awebunt’_ () lesreor(1p S 5D @ DM
D) Speed control / Beusid &1 [Hiium(p)

Answer: A

Explanation:

Star.delta starters reduce initial inrush current of three-.phase motors.

oL IMi-@IL_6oL_1T FlousSla6iT eypedtm &1L Gom_Lmiflet sia1s s W6t FmréHemns

& ODEHGID.

64. Single-phase motors are mostly used in:

6(1H &1L G L miseir @uhbumeIb 6T1hIE UIESTU(HS UL (H&l 66T meoT?

A)Household appliances/ 6fi_(j) &ngcoriuseir
B) Small fans,; Adw eNHdleseir
C) Pumps, ubtisseir

D) All of the above ; GBev ge. Hlcrmen Sicmeot & Gilb

Answer: D

Explanation:

Single-phase motors are suitable for low-power domestic and small industrial
loads.

615 &L Gl Lmiseir @emmibd &5 651 (h) b mib Hdw @smPlH&Temeo

vwedTUML_ 19 H G UM (IHE GLOITGOT DG,

65. The synchronous speed of a motor depends on:

615 G Lmifler 5 Slomas Gousid 6185HEs FMihss)?

A) Supply frequency and number of poles, 1blesr S5l @6uetor HMID Sbs

Slem&safleor 6r600r 6ooflds 60
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B) Rotor current,; Gumi’_Lii bledr &b
C) Load torque ; Gooni"_ &b g &é8)

D) Stator voltage / 6io@L1_Lii ibleiT 6T (195 HID

Answer: A
Explanation:
Synchronous speed, Ns =120f , P.

@5 5loms Bousid Ns=120f /P 161w &, 6516560 cucomuenm Qe wutuhiSma.

66. Which of the following is correct about shaded pole motor?

GasgL I Gur@eo Gwr_Lmi @mMI&s &iflwimeorg):

A) Simple construction ; etefliu &1°_L_emioliy
B) Low starting torque / @&6omibs Hiouds &MHG &b
C) Used in fans, efl &l efleo uwesru(pii

D) All of the above ; GBev ge. Hlcrmen Sicmeot & Gilb

Answer: D

Explanation:

Shaded pole motors are simple, low torque, and used in small fansand
appliances.

GasgL I Bur@eo G L miser eraflw, @& emmibhs Hiouds &Mbhs &F&bS)

@& evoTL_ 606, 6N HMISET W hHMID &8 coTihiss eifled LWEsTU(HID.

67. Which of the following isa characteristic of AC alternator?

AC oo iiBeorl”_L i @eorn Sl Hlwhuserfleo 618 69 6ot m)?

A)Producesalternating voltage / iommitb 1blebT 60T (195 &b 2_(HEUTE G D

B) Rotor is stationary ; Gumi_L_ii fhlemeowimeor gy
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C) Always DC output ; srts@ungib DC @evefluT(i

D) Requires brushes for operation ; Swrhis Slireis @& cmey

Answer: A

Explanation:

Alternators generate AC voltage in stator windings.

SieoL_FGeoT”_L &6 6oL L I srneirasarfled wmmib hledreor (195 51b 2_Hud s

@& ISl6oTm6oT.

68. Which of the following is NOT an application of three-phase induction
motor?

ewedrm &L &emevor Gom_Lmiflesr uwesrum(Hsseifled 618 Dicoeo?

A) Pumps ; uibtiseir
B) Conveyors, smesr@euwiiseir
C) Lathes, Bevg 6o

D) Battery charging ; Gui_L_fl &g

Answer: D

Explanation:

Three-phase induction motorsare not used for battery charging.
ewasTm L Gor_Lriser Gui_Lifl #misk @Fweusled uwesTUHSSUUL

WML _L_MT&6IT.

69. The rotor of a slip ring induction motor is:

6ro6dIU) flt &oemeoor Gom_L_mifledr Gom_Lif:

A) Wound type / &peir eueme

B) Squirrel cage type ; soseflreo Bagh auemas
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C) Permanent magnet / Hlrbsr &nibgd

D) None/ srgie)bleocmeo

Answer: A

Explanation:

Slip ring motors have wound rotor for external resistance control.

oo edIt fliits GomL_Lmi&semé @ @euatliym erSlity s (HOur_ g H@E s H6T

Gum_Lif 2_eiTerg.

70. Which of the following is NOT a type of AC motor starter?

AC Guni_Lnii gyeud Sl cuemeselfled 618 Dicoco?

A)DOL /@Gmimgq eufl
B) Star-Delta ; sioL_mi-@L_coL_im
C) Auto Transformer ; @p1"_GL_IT 1q T 65T 610 ~UMFLORF

D) Lap Winding, Lap s&meir

Answer: D
Explanation:
Lap winding is part of DC machines, not AC starters.

Lap &apeir DC SwibSlrmusoms @, AC giouéHlé @ Sicoov.

71. Three-phase induction motor torque is maximum at:

ewedTm &L Semeoor Gorl_Lmi &Mhs &&Sl SSlesul_gb eriiGung)?

A) Starting/ g16u86 81D
B) Full load / qp g Geomi

C)Noload ,; Beoni"_ &coeomoeo

D) Half load ; @160 Goomi™
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Answer: A
Explanation:
Maximum starting torque occurs at rotor slip =1.

SSBUL_& Glouss &MbHS &5 Gom_Lii sivedlt = 1,601 Gug) arbu(pHib.

72. Which of the following is called squirrel cage motor?

oo &6flTeo G& gl GomL_LMiT 6T65T M) 6T60S &6 MIeuT?

A)Rotor barsare short-circuited ; @um”_Lii umiser @ mis & (H OFLWOUL L cm6y
B) Rotor is wound type ; @umi’_L_ij & (eI 6ucma
C)Requires brushes, Sireys, @ 6meu

D) Field winding in series ; @&m_fleo y6o s peir

Answer: A

Explanation:

Squirrel cage rotor hasbars short-circuited to eliminate brushes.

oo deflreo @asgr G L i Slreis &evoonoco @&weoUHID @ msa (H CFuiur L

umH&6iT ©\8T6soTL_G)l.

73. AC motor care includes:

AC Gun_Lmi urmofliy @&weoun(Hsei:

A)Bearing lubrication ; @Quwflii & fley
B) Cleaning stator and rotor s 6ro@L1"_L i o myd Gum’_Lif && &b
C) Checking insulation resistance , ew (H@umr e ufl@&n & omcor

D) All of the above / Bw@ev s6 Hlicmey Dicmeot & &b

Answer:D

Explanation:
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All listed activities ensure proper AC motor operation.

B Bov sar MHlwemey SiemeorHgitd AC Gom™_Lmi #flwresr @&weoum” L Hssmeor

urmwfloy.

74. Which of the following is NOT an application of AC motors?

AC @ misaflesr uwesrum(Hasefled 61 Sicoen?

A) Pumps, ubtiser
B) Fans, eSidl&eir
C) Lathes, Bevg 6o

D) Battery charging ; Gui”_L_fl &migd

Answer: D

Explanation:

AC motorsare not used for battery charging: DC motorsare preferred.
AC Gun_Lmiser Gui_Lifl #migk @& vwestuRdsUuL m’_Lmiser, DC

Gur_Lmise6r s uwesTu(HlSSUU(H & 6T meoT.

75. Which statement about synchronousalternator excitation is correct?

005 5lend DicoL_[FBeoTL”_LIf HiTesorL_6o & MIs s &iflwimeorg:

A) Can be separately or self-excited ; eflwine icoeos) &iw gmesorL_epi_ et
& & 860D

B) Always series type ; eti@Bungyb @SLii 6ueme

C)Only shunt type ; 968011 6u6m& WL_(Hib

D) None/ srgie)bleocmeo

Answer: A

Explanation:
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Synchronousalternators can be excited externally or self-excited using
residual magnetism.
00551608 SieoL_[TGeoTL_L f&6T Geuaifliiym 160608 &L &IT60oTL_oYIL_ 65T

SWIkis6e0MmD.

76. Which method is used to control the speed of a DC shunt motor?

DC axgetor” Guon”_Lmi Gous s oms sL_(HUUHSS UWeTU[HISSHID (Y DD 6T8)?

A) Flux control; &mbss SHleme s Huun(p

B) Armature resistance control ; S1i@uwé &1 er&liivy sL_(Huum(h
C)Both A and B, A wihmib B Sueor (hid

D) None  ergia)bléoemoo

Answer: C

Explanation:

Speed of DC shunt motor can be varied by flux or armature resistance control.
DC exgetori’_ Gon”_Lmi @oussdoms &ibs s Slond Dicocos) Sii@é & erdlity

epevid WTHD (iq .

77. Which type of DC motor has highest starting torque?

2 wif HIeubs &MHs &S Gsneor DC Gum’_Lmi euens orgy?
A) Series / Q&mLii

B) Shunt, egesori_

C)Compound ; G&iisoma

D) Separately excited ; eoflwune gnegor_ oo 1

Answer: A

Explanation:
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Series motors provide very high starting torque; used in hoistsand cranes.
@srLif Gur’_Lmis&ser 2 Wi §ieuss &Mbhs &&Slemw aulprhi@ b, @ammilso(Haser

whHmib E@restseifled LwesTU(HID.

78. Which of the following statements about DC compound motor is wrong?

DC B&iidsoma G Lmi @& Heumnest se b m) 618)?

A)Provides high starting torque ; 2_wiihg 6w s &MHS &5
B) Speed regulation is good / @eus &1 (Huun () Hmibs s
C)Cannot run on ACsupply s AC iblesteor (195855 860 Swikhiss (piqung

D) No armature reaction ;2_eiterns e18)ij6X6oor smerr &3606m60

Answer: D

Explanation:

Armature reaction exists in all DC motors: interpoles reduce its effect.
ereoeon DC @Guon”_Lmiseflgpib 2_eirers o1 Slieslesorcmer 2_odor (h): Interpoles

&8 6060T (& 6DODEHSH 2_56)|D.

79.Consider the following statements regarding AC induction motor:
Rotor speed < Synchronous speed

Slipiszeroat noload

Rotor rotates faster than synchronous speed

Which is correct?

A)1only

B)2and 3
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C)1and 2
D) All123

Answer: C

Explanation:

Rotor speed is less than synchronous speed: slip at no load is small but not zero.
Gum_Lit Goussb 5 5lems CasssSlhE @ mmauTs &(1H&HED; Goom
Sovoomed Fledluy &HGm & emmeauns &(1H&H G D.

80. Which statement is correct about synchronous motor under no load?

Boorm” @ovoors s Slems Gom_Lmi @MIsHs siflwmeor se bHm) 615)?

A) Draws only magnetizing current, &nibg gmesor_eo Wledr&mmib w1 (HGLw
B) Draws full load current, apg Geom’_ ibledr smmid
C)Rotor lags supply ; @i tBlebreor (19658 b @ Sledr cor el

D) Cannot start / geuibis (pigwng

Answer: A

Explanation:

No-load synchronous motor draws only excitation current.

Boorm oooons 65 Slems Gom_Lmi & 65T G)IemL_W §T6sorL_od WlesT&mrib i (HGw

6T(H&@ELD.

81. Which of the following isan advantage of AC motor over DC motor?

ACGur_Lmi DC Gun’_LremreflL mestemio 618)?

A) Simple construction ; steflu &1°_L_smiotiy

B) Less maintenance ; @eomibg urmofliy
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C)Can run on AC supply ; AC euprtis o

D) All of the above / Bw@ev s6. Hliiemey Dicmeot & &b

Answer: D

Explanation:

AC motors are simpler, robust,and require less maintenance than DC motors.
AC @ miser ereflw, sueSlemowiresr wmHmb @& emmibs urmofliy

B omauemL Weme.

82. Which of the following is used to reduce harmonicsin alternator output?
SiooL_fBeorL_L i @evelflufi’ 1q 60 ammireils @ & emer & emnés 618
uwesTU(HSSUU(HISIDEI?

A) Skewed rotor ; smiey Gmmi_Lif

B) Interpoles , Interpoles

C)Capacitor ; Gasun &S _Lif

D)Shunt winding , exg egori”_ & peir

Answer: A
Explanation:
Skewed rotor helpsin reducing cogging and harmonicsin AC output.

gmbey Crm_Lif Gasn&liki b mib amFmestld@E s emer @& mnés 2_&6)|b.

83. Which of the following AC motors can operate on single-phase supply?

®(p &L bletreor(1ps5 8 AC G L miser 61hs acma Swibi@b?

A) Single-phase induction motor ; @ &L Sevevor G _Lmi

B) Three-phase squirrel cage motor / ey edr my &1L eivéseflreo Ga g
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C)Slip ring motor / 6to 68l Mk Gom_Lmif

D)Synchronous motor, & &leme Guom_Lmi

Answer: A

Explanation:

Single-phase induction motors are designed to operate on single-phase AC
supply.

@ &L Guor_Lmiser @b &1L AC ibleireor (195855 Sl6o Swnbisb.

84. Which of the following is called DOL starter?
DOL gy6ué:8) 61601 61608 8600 myoni?

A)Direct on Line, @i cuifl 1618810
B) Star-Delta ; sioL_mi-@L_coL_im
C) Auto Transformer ; @p1"_GL_IT 1q T 65T 610 ~UMFLORF

D) Capacitor start; @sun&l_Lif 1618 61D

Answer: A

Explanation:

DOL starter applies full line voltage directly to motor terminals.

DOL g16u8:8 G L (1 6060186158 @ (W (1 LDl6T 60T (19555 608 Gbiig wins

QULDIBIG D.

85. Which type of DC motor is preferred for traction applications?

19 11T 89 65T LWGSTUM (& 6H &G 6Tihs auemas DC Gum™_Lmi uwestu(hHlss0uHiSmg)?

A)Series,; @QsmLit

B) Shunt ; egesor”_
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C)Compound ; @5iisems

D) Separately excited ; seoflwire gmesor_ oL 1

Answer: A

Explanation:

High starting torque of series motorsisideal for trainsand trams.

2 Wi §loubs &b F&S QsneorL Q&ML Gum’_Lmiser Slruiledr&e6r whHmitb

LG ITD&(61H&@E O (5SS LDT6OT 6.

86. Which formula is correct for slip in induction motor?

Soneoor Gor_Lmi HleSullibemeor sflwreor & &Smb:

A)S=(Ns-Nr),Ns x100%
B)S=Nr/,Ns x100%
C)S=Load torque ; Input torque x100%

D) None/, srgiaidléoemeo

Answer: A
Explanation:
Slip S =(Synchronous speed - Rotor speed),Synchronous speed «100%.

oS0 S = (5 5l Bousid - BrmL_Lif Gousib) s Slems Gausd «100%.

87. Which of the following isNOT a type of single-phase induction motor?

(1 &L Semevor Gom”_Lmifledt suemesatled 6181 &coemen?

A)Capacitor start ; @sur &L if gieudsid
B) Split-phase / stoSlefl_ un&d

C)Shaded pole ; BagL 1" Bur@eo

D) Slip ring / 6to6SI1 ik
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Answer: D
Explanation:
Slip ring motors are three-phase types, not single-phase.

665U flrbl G L Mi&6iT eLp6dT M) HL_L 616585, 6(Ih &1L Bi6060.

88. Which of the following is the main cause of DC motor sparking?

DC @i’ Lmi sui&liki arHu(pleus hHasmeot (p &SI STTesrid:

A) Improper commutation ; geumneor uflommbmid
B) Low voltage / @ eomibs bledreor (196 51D
C)Over lubrication ; @if& & fley

D) Rotor fault , @umi_Lii Slemip

Answer: A
Explanation:
Poor commutation causesarcing at brushes.

soupneor uflrHmb Yireigsefleo i &Sk arbhuL_& QFLSIDG).

89. Which method is used for controlling speed of three-phase induction

motor?
eweit M &L Soemevor Gor_L i GeussHoms &L (HUU[HSS 6THS (Y 6MMm

vwesTU(HSSUUHISIDEI?

A)Rotor resistance control ; @um”_Lif er&idiy &L (HlOum(H)
B) Voltage control / ilesreor(1p$ 8 &1 Hiun(p)
C) Frequency control ; ©ilii@enesor &1 (Hloum ()

D) All of the above / Bw@ev s6 Hlicmey Dicmeot & &b
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Answer: D

Explanation:

Speed of induction motors can be controlled using rotor resistance, supply
voltage, or frequency variation.

Soemevor Gom”_L_miiserflesr Genssid Gumi_Lif er&litiL, Lfﬂdsranqg,&,gtb SI60608)

D15l Geuesor LTHMID eeold &L (HUuuhHSSUUHISIDG).

90. Which of the following AC motors has highest starting torque?

AC G nmisafleo SiHls gionbs &MHe &65) C\&TesTLg) 618)?

A) Squirrel cage motor ; shoéefireo g
B) Slip ring motor / sio Sl i
C)Shaded pole motor ; @agL 1" Gur@evo

D) Synchronous motor / & Slewa

Answer: B

Explanation:

Slip ring motors can have starting resistance added, providing high starting
torque.

oo eSIt fliiks Gom_LmisseT sieuss er&lity C&idaoomb, MiSls Hiousbs &b &&HS

S(BLD.

91. Which of the following is used to maintain voltage in alternator?

SicoL_FBeor”_L_fleb bl6dT 60T (195855 608 IHlemeombiTl”_L 6T LWETU(HISSUUHISIMSI?

A) Voltage regulator / ibleireor (1968 &1 [Hioun(p

B) Resistor ; et&lity
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C) Capacitor ; Gsur&l_Lif

D) None/ srgie)bleocmeo

Answer: A

Explanation:

Voltage regulators automatically maintain alternator output voltage.
WbledT 60T (1955 & &1L (HUum(hlseT SicoL_FGeor” L i Geueflufi” emL_ sreornasd

SrTOumbHmIb.

92, Which of the following is the main care of three-phase motor?

ewedrm &L G _Lmiflesr (&S urmofliy:

A) Bearing lubrication ; @uwfii & ey
B) Checking insulation ; e H@unper ufl@&n g emeor
C)Cleaning terminals / (ip emeor &6 81D

D) All of the above ; GBev ge. Hlcrmen Sicmeot & Gilb

Answer: D
Explanation:

All are essential to ensure motor efficiency and longevity.
ewoolb ClEFWEdSIM6ST WhHMID Hujemor 2 MISIIU[HES HeH6oTSHHID

B & em6uLUIT 60T 60 6.

93. Which of the following is NOT used for speed control in DC motor?

DC @om”_Lmifléd Gouss &1 (HIUM_1q.H@& 6T & LWETUHSSIUL TE)?

A) Armature resistance ; it G & &if erHliTIY

B) Flux control ; smbg 8 SHlewe &1 [Houn(h
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C) Voltage variation / blesreor (1968 Lo mig o

D) Capacitor, Gsur&l_Lif

Answer: D
Explanation:
Capacitor is used in AC single-phase motors, not DC motor speed control.

DC @Guom™_Lmi Gous &1°_(Hluun_1q H@& GaurS_L i uwesTuhHiHSIUL ).

94. Which type of DC motor is preferred for hoists and cranes?

Gammiieiv(Ha6T whHmib Hl@resrs o @ Gunpdswmeor DC Gum_Lmi:

A)Series,; Qs
B) Shunt, exgegori”
C)Compound ; @&iisema

D) Separately excited ; seoflwne gnesor_ oo L

Answer: A

Explanation:

Series motors provide high starting torque suitable for heavy loads.
@arLii G’ L migeir &eormeor Goom (H& (6 &a&Teor 2 Wiihs §ioNss &b

&5 5o QIPIBIGD.

95. Which of the following is correct formula for synchronous speed?

0551608 BoussSliener sflwneor &,6STb:

A)Ns=120f /P
B) Ns=P /120f
C)Ns=60f,P
D)Ns=P,eof
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Answer: A
Explanation:
Ns =120 x frequency,number of poles.

Ns =120 x 2i15liiO\6u6tor / HMHS SlemaFsei.

96. Which of the following AC motor has simple construction and low cost?

erefflu &1°_L_emwiy wHmIbd & omibs C\Feoe Gsmeor AC Guml_Lmi:

A) Squirrel cage induction ; soéeflreo G&gh
B) Slip ring / stoeSI) fik

C)Synchronous, @6 §lems

D) Shaded pole ; @agL 1" GurBeo

Answer: D

Explanation:

Shaded pole motors are simple, low-cost, and used for small fans.

BagL " Bur@eo G _Lmiser ereflw, @& emmibs G&Feve), i 6Sfdlsefleo

UwedTU(hHID.

97. Which of the following is used to reduce starting current in induction
motor?

Someoor Gom_Lmifléd gl6ués WI6HTEMID @& mM&s 6181 UW6STU(HSSUIUHISIDS)?

A) Star-Delta starter ; sioL_mi-@L_coL_im
B) DOL starter ; Gmimiq euifl
C)Capacitor ; Gsun Sl _Lif

D) None/ srgie)bleocmeo
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Answer: A
Explanation:
Star-Delta starters reduce initial inrush current.

ooL_MMiT-OIL_6oL_IT §16u&El&6T §I6usE DI FMTSH 08 @ D& E)LD.

98. Which statement is correct about AC alternator frequency?

AC oo iBeort’_Lif iSlii@eueor @& mMlds Fflwimeor se hmy:

A) Depends on speed and number of poles ; @eusib whmib &1ibs Hlewesar
616007 600f1 & 6 & DI FMTTHS &l

B) Always 50Hz, etts@ungb 50Hz

C)Depends on load / Geon"_ &mihas g

D) None  ergiajbléoemoo

Answer: A

Explanation:

f =Ns x P /120: frequency depends on rotor speed and poles.

f =Ns x P 120: @16lii@euesor Gumi”_L_ii Geussid b mib &ihg Hlome s efledr

676007 600f1 & 6 & W FNMTTHS &l.

99. Which of the following is the main application of slip ring induction
motor?

oo 6dI ity Semeoor GomL_Lmifledr (W &&Shw uwesTurm (p):

A)High starting torque applications ; i§l& gl616:6 &1Hs &&5) @& cmeuuieor

SL_bIs6IT

B) Fans, eS1AMlaeir
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C) Pumps, ubtisser

D) Household appliances/ 6fic_() &ngcoribiser

Answer: A

Explanation:

Slip ring motors are preferred for heavy-duty, high torque starting.

o edIt fliits GomL_L_mis6ir &eormeor ool wHMID DiS5ls Hiss &MHS F& 5

G omanuneT SL 1618 6H&HE 2 &iHgHomeal.

100. Which of the following is NOT an application of synchronous motor?

05 Slema G Lmiflesr uwedTun (Hlgsetled 618 Dicv6o?

A)Power factor correction ;10661 && %) snresil H(1HS 1D
B) High-speed constant load drives, 2_wit Geuss Hlemeowimeor Geom”
C)Battery charging / Gui_L_fl &g

D) Pumping ; ub’s Swé &b

Answer:C

Explanation:

Synchronous motors are AC: battery charging requires DC supply.
s Slems Gurl_Lmiser AC euems, Gui_Lfl #migk DC @5 emamun@b,

@un(Hs &1D1606060.

101. Which type of DC motor is called constant torque motor?
oTibs euemad DC Gumi_Lmij Hlemeowineor &bhs &8l Gom’_Lmij 6redr my

1o &H&HUIUHSIDE)I?

A)Shunt ; exqedori”

B) Series,; @amii
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C)Compound ; @5iisems

D) Separately excited ; seoflwire gmesor_ oL 1

Answer: B

Explanation:

Series motors provide high starting torque and nearly constant torque under
varying load.

@anLii G’ Lmiser 2 wif §ieués &hs &&S b mib wrmib Geom” g6 ST

iBlemoowineor &b &85 uLPIhIGD.

102. Which of the following statementsis correct about commutation in DC
motor?

DC Gwni_Lmifléd uflonbhmibd @&mMés sflwneor de Hmy 618)1?

A) Switching of current in armature coils ; 1@ & &if & (Heirsefled Wledr&mr
LM HMLD

B) Rotor always stationary ; @um_Lii et)@umgyib Hlemeowimeor )

C) Increases sparking ; #ui &l SiSHlaflé @b

D) Only used in AC motor ; AC @wr_Lmifl6o w1”_(Hib uwesTuHSSUUHID

Answer: A
Explanation:
Commutation is the process of reversing current in armature coils.

uflorHoibd SiFCw& &l & (poTsoifled T &FMTé ems WwIhHmIb G &FWwed (W emm.

103. Which of the following is used for speed regulation in DC shunt motor?

DC axgeori’ G Lmi Geus &1 (HlUum’_1g M@ 618 LWETU([HISSUUHISIDSI?
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A) Field rheostat ; yeo iGwmeroL_m
B) Series resistor ; @snL_ii&8S ety
C) Voltage variation ; iflereor(19s s wmbHmib

D) Capacitor; Gsum&l_Lif

Answer: A
Explanation:
Field rheostat adjusts field current, controlling speed.

yoo fl@wimeroL_m”_ oo WledTamrd ems bl Gassems &L (HUu(HiHSHID.

104. Consider the following statements regarding armature reaction in DC

motor:

Causes flux distortion / &mbg &Sliefids Aevsoy armbu(Hibd
Leads to sparking at brushes ; Sireig.&efleo sui &t arbHu(hHid
Increases efficiency s @gweoHmesr SiSlaMé @b

Which is correct?

A)1and 2
B)2and3
C)1and 3
D)All123

Answer: A

Explanation:

Armature reaction distorts flux and causes sparking but does not increase
efficiency.

D@ é& &1 e1SlieNevoremen &b &SHlieli&emnes Floms s @b b mb Slresserfled

FUTSIB aHU[HSSID, @O FwWSIDT Sls flebsTs.
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105. Which of the following DC motors has speed inversely proportional to
flux?

DC Guwm”_Lnmisafleo Goussibd &Mbss SHemes @ erdHluns &mnibsg:

A)Shunt/ egedori”
B) Series / @QamLii
C)Compound ; @&iisema

D) Separately excited ; seohwine gmesor_Ciu L

Answer: A
Explanation:
Shunt motor speed Ns o< 1,®.

oageoorl_ G Lmi Gausid Chiinmns &Mhs s Slenssds@s snibssl.

106. Which of the following statementsis correct about DC series motor
applications?

DC @snLii G’ mi vwestun(hseir @mMleHs sflwimeor e bHmy:

A) Traction ; @gmL_réo uwesrun (k)
B) Lifts; eSl0L_ss6ir
C)Cranes, £ @reoraseir

D) All of the above / Gw@ev sa Hlcmey Dicmeot & &b

Answer: D

Explanation:

High starting torque makes series motors suitable for hoists, lifts,and traction.
2 Wi Hleuds &Mbs &é&85 DC QgL Gur_Lmisemer Gammiieh (Hiseir, 650 _seir

wHmIb COFTL_réd UWESTUNL_Lq H@G OUT(HS SN EGSIDE).
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107. Which of the following is NOT a characteristic of DC shunt motor?

DC axgeore’ @om”_L_miflesr @& eoorm & Hwikiss eifleo 618 Si6o6o?

A)Nearly constant speed / giomii Hlemeowneor Geussib

B) High starting torque / 2_wiihs gieuds &nbs &8

C) Good speed regulation ; 8mibg Gous &L HUuM(H

D) Can be run on AC supply s AC euprie opiL_obr Swirbi@ b

Answer: D
Explanation:
DC shunt motors require DC supply only.

DC axg6tori” G Lmiseir ilsireor(1pd b DC 1" (G G5 emanuncr .

108. Which of the following methods is used to reduce sparking in DC motor?

DC Guni_Lmifléd suii&liki @ommés 618 LWETUHSSUIL[HISIDE)?

A) Use of interpoles/ Interpoles uwesru(hé g8 6o
B) Increasing load ; Geoni”_ if&fg 560
C)Reducing supply voltage / iblereor (196 5D & >mS 560

D) Using series motor / @gnLii Gom’_L_mi uwedru(h)é &i& 6o

Answer: A
Explanation:
Interpoles counteract armature reaction, reducing sparking.

Interpoles SiiGuwé& &1t e1&Hliicflcvoromen eTHlii & &I FUTHIhI @& DD ELD.
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109. Which of the following is NOT associated with maintenance of DC
motor?

DC @™ unmofliiyL_esr @& mLiiSleocon s gy:

A) Commutator cleaning ; uflionmh ) &8 51D
B) Bearing lubrication ; @uwfiii & fley
C) Checking stator insulation ; 6io@L"_L_ii ey Hi@ummeir uf@& s cmeor

D) Adjusting rotor slip ; Gumi”_L_ii 6r06SI0) & @& 60

Answer: D
Explanation:
Rotor slip adjustment is not applicable for DC motors.

G eiveSls DC Guoni’_L_miss omd@ @unpibsng).

110. Which of the following AC motorsis preferred for fansand blowers?

NEAMI&AET hHmIb BT 8 (6158 @E) 618 UM (HS SLOM6OT 8))?

A)Shaded pole ; @agL 1" BurBoo
B) Slip ring / 6to6SI0) ik
C)Synchronous, @6 §lems

D) Series motor ; @gnL_if Gom_L_mi

Answer: A
Explanation:
Shaded pole motors are simple, low-cost, and suitable for small fans.

BeagL 1" Bum@eo B miseir eteiflw, @& emmibs G&Feva], Hmdlw 6N &Hmlsatlco

@UN(HS ST T DG,
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M. Which of the following starter is most economical for small motors?

Emlw Gom”_Lmis©ohé@ 6181 Gun([hé et hHMID & eDibHs &0 HioudSl?

A)DOL , @wpimg eufl
B) Star-Delta ; sioL_mi-@L_coL_ir
C) Auto transformer ; 1" GL1T 1q T 65T 610 ~UMFLOGT

D) None  srgia|ibleocmeo

Answer: A

Explanation:

Direct On Line starter is economical and simple for small motors.
@miig euifl geud &l Andlw Gom_Lmiss©mHé @ & mmibs Gl&606) WHmIb
oToflsmeoT 8.

112. Which of the following is correct about synchronous motor load?

05 Slems G Lmi Goorl @ MlHs Fflwmeors:

A)Can operate at leading, lagging, or unity power factor ; (y 66t coreoof],
1657 & 6T (61H & 60, 6 (IHTaI&lemeoTh S &8 S| ST evof]

B) Only lagging power factor / Slesr &6ir(om & 60 L (HGLW

C)Only leading power factor / (p 6t eoremfl 1" (HGw

D) None/ stgia)bleocmeo

Answer: A
Explanation:
Synchronous motors can operate at different power factors.

05 5loma Bl Lmiser eilsSlwnswneor &&5] snrenfl hlemoossatleo @uwirbib.
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113. Which of the following is used for DC motor speed measurement?

DC @™ Goussdoms Siend s 6181 LWTU([HSSULHISIDEI?

A) Tachometer ,Ln@&smBL_Li
B) Voltmeter ; Goureor”_(Br"_L_if
C) Ammeter ; @SuinBr_ L

D) Frequency meter ; o16lii@euesor (B1°_Lif

Answer: A
Explanation:
Tachometer measures motor speed in RPM.

Lr@amBi_Lii oL i Gensdons RPM-6o Siend@ib.

114. Which of the following is correct about alternator voltage regulation?

SicoL_FBeor”_L if IbledTeor (1958 &1 (Huum(h) & M8 Fflweorg:

A)Change in voltage due to load ; Geoni”_ onHm & Hl66T HNTemTONGS
1bl6dT 60T (19 & B 1D T HMID

B) Only depends on supply frequency / ihlesreor (19651 1Sl Gleuesor w1 (HIGLW
Fibs gl

C) Always constant / erti@umgyib iHlemeowimeor

D) Depends on rotor speed only, @umi_L_if Geussid w1 (HGw &mihs &)

Answer: A
Explanation:
Voltage regulation is the variation of terminal voltage between no load and

fullload.
WbledT 6ot (1958 &1 (HUum(h Geom” eveormined b mIb (R Geor” Hlemevsoifled

1bl6ST 60T (19 6B LMD 608 & DIEE D
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115. Which of the following is an advantage of three-phase induction motor?

ewedir M) &L & emevor GomL_Lmifledr 16T 6mLp:

A) Simple construction ; ereflu &1°_L_emiotiy
B) Ruggedness ; aueSlemio
C) Low maintenance ; @e»mibg unmoifliy

D) All of the above ; GBev da Hlcmey Sicmeor & &ilb

Answer: D

Explanation:

Three-phase induction motors are simple, rugged, and low-maintenance.
ewedrm &L Goml_Lmiserr ereflu, sueSlemiowimeor b mitb @& emmibs urmoiliy

@8 6m 6T 60T 66,

116. Which of the following is used for AC motor speed control?

AC Gur_Lmi Geuss &1°_([HUUNL_1q (hHE 6181 LWETUHISSUUHISIDE?

A) Voltage variation ; iblesteor(19 68 mHmID
B) Frequency variation ; ©i$lii@euesor womibHmid
C)Rotor resistance ; Gom_L_if et&HlicIy

D) All of the above / w@ev s6. Hlcmey Dicmeot & &b

Answer: D

Explanation:

AC motor speed can be controlled by voltage, frequency, or rotor resistance.
AC Gum_Lmflesr Geussib LBlesT6oT(1965 51D, 1SN Gleuesor, Bmmi_Lii sTSliTi ey ooid

&_(HuuHiSsuubHISIDs).
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117. Which of the following is correct about DC motor armature reaction?

DC Guni’_Lni i@ é&ii er&liieNevoromer @& MléHs &flwmeors:

A) Distorts main flux ; (& &Hw s1bs &SHicfisems Homg b @b
B) Reduces torque s &g #68) @comey
C)Increases efficiency ; @&weoHmesr DiHlafld @b

D) No effect / 6158 snéaHpID S6o6me0

Answer: A

Explanation:

Armature reaction distorts main flux: effect is countered by interpoles.
@& & erHliicNevoremer (&SI HMHS HEHliefsmna fewss@b: Interpoles

S &omeor Fiblemeo G&FUID.

118. Which of the following is NOT a characteristic of squirrel cage induction
motor?

o &eflreo Ga gy G L miflesr @& ooorm Sl Flwmisseifleo 6181 &6oemeo?

A) Simple construction ; eteflu &1°_1L_smiotiy

B) High maintenance ; &1$\& urmofloy

C) Low starting torque ; @&oonibs Hlouds &MHS &dbH

D) Can operate on AC supply ; AC eupriiss 6Sl6o Swirbi@ b

Answer: B
Explanation:
Squirrel cage motorsare robust and require low maintenance.

eiv&aflTeo Ga gl Gum_Lmiseir 6uedlemiowin 6ot 6mey, @& emmibs unmwifliy @& emeu.
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119. Which of the following is used to start large DC shunt motor?

@uiflw DC axgetor’ Guni’_Lmeor 16w s 618 LWETU([HSSUUHISIDEI?

A)Series resistance s @anLii&SS 1Sty
B) DOL starter ; @mbiig 6uifl gioussid
C) Star-Delta starter ; sroL_mi-@L_coL_m

D) Capacitor, @sur&l_L i

Answer: A

Explanation:

Series resistance limits starting current in large DC motors.

@uiflw DC Gur’_Lmfled gieuss Wleorammb s [HUubHSS O&TLiisd8Hs erSHlity

uweTU(HSSUUHISIDS.

120. Which of the following is correct about rotor of synchronous motor?

05 Slema G Lmflesr Grm_Lif @mMl&s &ifhwumeorg:

A)Rotatesat synchronous speed / @8 & ona Gous dEleo spepid
B) Rotor lags behind stator ; 6o @L1"_Lii Sieéreormed &ipepid
C) Always squirrel cage ; eri@ungyib siodefireo Gagh

D) Series wound ; Q@688 &meir

Answer: A

Explanation:

Rotor of synchronous motor rotates at synchronous speed with AC supply
frequency.

5 Slema G _Lmflest Grm_L i AC auprhiscd iS)i©6160T 861 d@E &FLoLTeoT

00551608 B6usH 5560 FiPoYID.
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121. Which of the following is the main disadvantage of single-phase induction
motor?

(1 &1L Semevor Gom”_Lmiledr (1 &&hw @& emmun (i)

A)Low starting torque ; @ oowibs giovbs HMHS &S
B) High maintenance ; ®i$l& urmofliy
C)Complex construction ; §lé&eoneor &1°_L_6mioliL]

D) Cannot operate on AC, AC auipriisseSleo Swiins (piq.wing)

Answer: A

Explanation:

Single-phase motors produce low starting torque; capacitors may be added to
improve.

(15 &1L G LMi&6iT @ 6mmihd SHiauss S &&HS] O&TeHT_cmel;

B&omanGlwestlep GsunSL_LiT @&iidaeomib.

122. Which of the following is correct about DC compound motor?

DC @B&iidsoma G’ Lmi @mMéHs Fflwircor &i:

A)Provides medium starting torque ; b(HS ST Gliouds &MHG &&6)

B) Speed regulation is better than series motor ; @eus &1 ([HOuN () @ &I
Gur_LreorellL Amhs &)

C)Can run on DC supply , DC euprius 6Sleo Swirkiid

D) All of the above ; Bw@ev sa Hlcmey Dicmeot & &b

Answer: D
Explanation:

Compound motors combine series and shunt winding advantages.

RLA ACADEMY FIELD ASSISTANT — 590 Click here to Join Group: ® © @ |



https://whatsapp.com/channel/0029Va9vxooFi8xasVgfCr3O
https://youtube.com/@readylearnachieve8491?si=JdfrtMrAESEttLKI
https://t.me/readylearnachieve
https://www.instagram.com/rlaacademy?igsh=MW0xb3Jyd2lidG9ydQ==

GoidHome Gum_Lmiser GSILIT M mIb 62365071 & (IH6IT [H63T GHLD & GOI6IT

&360)6001 8 &) LD.

123. Which of the following is NOT used for speed control of DC motor?

DC @om™_Lnifledr Gouss &1 (UL _1q HEG 618 UWESTUHISSUIUL TE)?

A) Armature resistance ; i@ & &if erSHIT0IY

B) Flux control ; &mbs8 SHleme &1 Hiun(p
C)Supply voltage variation ; ihlesreor(19s s wmHMID
D) Rotor slip ; Grmi_L_if £6S0

Answer: D
Explanation:
Rotor slipis AC induction motor parameter, not DC motor.

Gum_Lif e8Iy AC Gon”_Lmii ey, DC Guoni_Lnpé@ Gunabhsns).

124. Which of the following is correct about care and maintenance of DC
motor?

DC Guni_Lmifledr unmofliy @mMlés &iflwireor gy:

A) Commutator cleaning ; ufliorih ) & & &b
B) Bearing lubrication ; @Quwflih &8y
C) Checking insulation resistance , ey (H@unper ufl@&n s cncor

D) All of the above / w@ev s6. Hlcmey Dicmeot & &b

Answer: D
Explanation:
All listed tasks ensure motor longevity and efficiency.

B Bov so Hlwemer Gl Lmii Spujeir b mIib GFwWeSIm6sT 2 mSuhHSSIb.
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125. Which of the following is used to protect AC motors from overload?

AC @um”_Lmisemer oot iSlaflilleo Smibg UTgISTUIU 618)?

A)Opverload relay ; &185l& Geomi”_ Fomoo
B) Fuse, =0 6ro
C)Circuit breaker, #1681 Q@& &1

D) All of the above ; GBev da Hlcmey Sicmeor & &ilb

Answer: D

Explanation:

Overload relays, fuses, and circuit breakers protect AC motors.

1518 Goonl_ Fomov, -y 6o bHmib sF&HSI" NGré&sisar AC Gum’_Lmissemer

UM &850 & &163T D 6oT.

126. Which of the following is the main cause of reduced efficiency in DC
motor?

DC Guni_Lmifled @&weoSmedr & emmeyd@E (W &SI STTesTid 618)?

A) Copper loss ; @eueirefl (smtiui) Sy

B) Iron loss / &miby Sy

C)Mechanical loss / Swih&lr Sy

D) All of the above / Gw@ev sa. Hlcmey Dicmeot & &b

Answer: D
Explanation:
Alllosses—copper,iron,and mechanical reduce DC motor efficiency.

Siemeor §8 Suysenb DC Gun_Lmi G&FwedSnenest @ emmné@h.
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127. Which of the following is correct about torque of DC shunt motor?

DC exgetor” Gom”_Lmfler smibg 68 @DHs sflwncrg:

A) Torque < Armature current, Torque X i@ & &if 1HledT &FmiTid
B) Torque < Flux, Torque X &8s SHlons
C) Torque x 1,Speed ; Torque x 1,@eussid

D) Torque independent of current, Torque W6t &nrd8186@, ETImss)

Answer: A
Explanation:
Torque is directly proportional to armature current in shunt motor.

Torque SiiGwé&&ii Wleranrd SH @ Ghiiwemm @S femL wg).

128. Which of the following is NOT an application of DC series motor?

DC @snii Gum”_Lmflesr uwestum(hasefleo 6181 Sicoeo?

A)Traction ; @&m_eo
B) Lifts ; eS”_ss6ir
C) Fans/ eS8 &6t

D) Cranes ; £ @reoraseir

Answer:C

Explanation:

Series motors are not suitable for small load applicationslike fans.
@srLi Gum’_Lmiser el mdlaser Gumredrm Sl GeorL LwesTUN (H&OTH & @)
@unHs &1D1606060.

129. Which method is used to reduce AC motor starting current in large

motors?
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@uiflw AC Gur’_Lmifléd g16168 LOl6T FTID @& OMEES 6TiHG (Y GHMD
uwesTU([HSSUUHISIDEI?

A) Star-Delta starter ; sroL_mi-@L_coL_m
B) DOL starter ; @mmq. euifl
C) Capacitor start ; @sun &L i 161861

D) No method / ergieib Seo6meo

Answer: A
Explanation:
Star-Delta starter reducesinitial inrush current of large motors.

oioL_mi-@IL_coL_ gious Sl Guifhu Gom_Lmflesr g16u88 WI6T FMISH 08 & DM EELD.

130. Which of the following is correct about AC synchronous motor power
factor?

AC @68loma Gon”_Lmi #68) snreol & Més sflwneors:

A) Can be leading, lagging, or unity / (y 661 6ot eoofl, 5661 &6 (615 & 60,
6 (IH1b1&l 60T H S

B) Always lagging / eri@ungib Sler & 6iT (6158 60

C) Always unity ; eri@ungib 6 (il emesoribg

D) None/ stgia)bleocmeo

Answer: A

Explanation:

Synchronous motors can operate at different power factors depending on
excitation.

05 5loma Bl LmiseT Shisefleor gmesorL_eSlesr ig tiuemL_uSleéd uco &85

snrenfl (hlemeosseifleo Swirbigseorib.
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131. Which of the following is called speed control by flux weakening in DC
motor?
DC @om”_Lnifléd &mb88 SHeme @omms gy Gous &1 (HUum(h) 61651 @) 6TemS

&6 M6 ?

A)Field control /yeo &1 Hloum ()
B) Armature resistance control ; S1i@uwé &ii erSlivy sL_(Huum(h
C)Series resistance control ; Q&m_i&85 er&Hlitiy

D) None/ srgia|ibleocmeo

Answer: A
Explanation:
Reducing field flux increases speed above rated value.

Yoo &MbSH S SHlem&emiu & emmé 560 Caus s s wElibluer Bl i5)6flé @ .

132. Which of the following is used to improve starting torque of AC induction
motor?
AC Soneoor QoL mifléd gi6uds &nbs &&5) iblsflés o)

uwesTU(HSSUU(HISIDEI?

A) Adding rotor resistance ; @i _Lif etSF0IY C&ii S 860

B) Increasing supply voltage ; iflereor(1pd 5> iSlefls s o0
C) Using DOL starter ; DOL gyenés &

D)Reducingload / Geont”_ @ cmmé g 60

Answer: A

Explanation:
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Rotor resistance in slip ring motors increases starting torque.

oieSIt flik Gom_Lmifleo Gomi_Lif er&lii0Y Hioué s &Mbs Fobslemw i sifléEbh.

133. Which of the following is correct about DC motor efficiency at full load?

DC @Guom_Lmi ap g Goor” @&weoSlmeit @& MIss &flwmeor i

A)Maximum ; SiHlsul_gib
B)Minimum ; @ eomhsul_&b
C)Zero sy, gdwib

D) Dependson type ; eueoaé@, Emibsg)

Answer: A
Explanation:
DC motors are most efficient near full load.

DC @Gwni_L_miser (p( Goomi”_iq.60 SiSlaur_s GFWcdSIM6ST 16T T 6.

134. Which of the following is correct about AC alternator construction?

AC SicoLiiBeori”_Lif &1L eooliy @& mMlds &iflwimeor gy:

A) Stator carriesarmature winding ; 6o @L1"_Lif Sif @& &I &(mHeir
B) Rotor carries field winding / Gum_L_i &mibs &(poir
C)Both A and B, A wihmib B Sredor(piid

D) None/ stgia)ib &coemeo

Answer: C
Explanation:
Stator usually has armature winding; rotor carries field winding.

oo BL L if DifG & &1f & (Homord GamesorL_g): G _L i &b & (HoiT O\&TeoorL_g)l.

RLA ACADEMY FIELD ASSISTANT — 590 Click here to Join Group: ® © @ |



https://whatsapp.com/channel/0029Va9vxooFi8xasVgfCr3O
https://youtube.com/@readylearnachieve8491?si=JdfrtMrAESEttLKI
https://t.me/readylearnachieve
https://www.instagram.com/rlaacademy?igsh=MW0xb3Jyd2lidG9ydQ==

135. Which of the following is NOT an application of synchronous motor?

005 5loma Gl Lmiflest uwestum(Hsseifled 618 Di6oeo?

A)Power factor correction ; 1066t &#68) snmresil S5 8D
B) High-speed constant load drives, 2_wif Geuss Hlemeowimeor Qoo
C) Traction ; @snL_reo

D) Industrial pumps ; @smdlbHaremeo ublisseir

Answer: C

Explanation:

Synchronous motors are not used for traction: series DC motors are preferred.
005 Slems G LMiser @&TL_[réd UWGSTUNL_Lq (H@ UIWETU(HSSUUL TG O&TL T

DC @t _L_miseir @uin(h&aLomeor 6o,

136. Which of the following is correct about rotor resistance in slip ring
induction motor?

oo eSIt fity G L_mfléd G erSlity @ Mlss sflwmeorg:

A) Used for speed control / Geus &1 (Hluun(p
B) Used for starting torque improvement / 16188 &g &&E Gibun(h
C)Both A and B/ A wihgyid B Sresor (o

D)None/ stgiajib &coemeo

Answer:C
Explanation:
Rotor resistance isadded to control speed and improve starting torque.

Gom_Lit erHliity Gouss &1 (HUum () whHMID Siouss &nbhs &F&sl Gobum(héE

LwWesTU([HSSUUHISID S
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137. Which of the following DC motors can be run on AC supply?
AC aupriss eSleo Swiin@b DC G _Lmi o181?

A)None/, ergya)ib Seocmeo
B) Shunt ; exgesori™
C)Series, @snLi

D) Compound ; @&iis&ema

Answer: A
Explanation:
DC motors require DC supply: cannot run on AC.

DC @Gum_Lmiser DC aupriiseo w1 (HiGw Swiki@ib: AC euiprisseSleo Swikisng).

138. Which of the following is the main cause of commutator sparking?

uflorb ) FulFSikSlesT (P &SI STresTd:

A) Poor commutation / eumimeor uflomhHmid
B) Overload / &i$l& Geomt"_
C) High voltage ; 2_wii iblebr 6ot (198 51D

D) None/, srgiaib Scocmeo

Answer: A
Explanation:
Improper commutation causes brush arcing.

Seaummeot uflrHmD GlTers Diié Sk arbuL_& G LIS IDG).

139. Which of the following is the main care of three-phase induction motor?

eweirm) &L Semeoor Gom_Lmifledr (wp&&Shw ugmofloy:
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A) Bearing lubrication ; @uwflii & fey
B) Checking insulation ; ey Hl@un e ufl@& s cmeor
C)Cleaning terminals (ip emeor 8651

D) All of the above ; GBev da. Hlwcmey Sicmeor & &ilb

Answer: D
Explanation:

All tasks ensure efficient motor operation and longevity.

Siemeor &I Gom_Lmi @&weoSmesT hHmIb Spujer 2 mSIiu[HSsib.

140. Which of the following is called DOL starter?
DOL g6ué: &) 6161 m) 61608 &6 myoni?

A)Direct on Line ; @mimgq euffl
B) Star-Delta ; sioL_mii-@L_coL_ir
C) Auto transformer ; 1" GL1T 1q TT65T 610 ~UMFLOT

D) Capacitor start; @sun&l_Lif 1618 6D

Answer: A
Explanation:
DOL starter applies full line voltage directly to motor terminals.

DOL g16u8:8 G (1 6060186158 @ (W (1 LDI6HT 60T (105 51D UIPThIEEID.

141, Which of the following is correct about AC motor efficiency?

AC Gun’_Lmi @&weoSmedr @&Mlés &iflwimeor gy:

A) Usually 85-95% ; @ungyeuns 85-95%

B) Always 100% ; eTi@ungib 100%
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C) Less than 50% / 50%-8&@ @& omeuns

D) Zero /y,gounb

Answer: A
Explanation:
Efficiency of three-phase induction motorsis usually 85-95%.

eweirm &L Semevor Gom_Lmi @FweoSImesT 85-95% &(1H&@ELD.

142. Which of the following is used for AC motor protection?

AC Guni_Lmi ungysmillb@ 618 UwTU([HSSUIUHISIDE)?

A)Fuse, ~0yp 6o
B) Circuit breaker ,; &8 OCr& 6T
C)Overload relay ; &i85ls Geomi”_ Fomoo

D) All of the above ; GBev ge Hliemen Dicmeor & &ilb

Answer: D

Explanation:

All devices protect AC motors from overcurrent and overload.

SiemeordgIb AC Gun’_Lmisemer Si5ls wledr &b wihmibd Geort iSlaflinsleo

SHiHGI UTEHIGTEGLD.

143. Which of the following is correct about star-delta starter?

oL Mi-@lIL_6oL_1T gloud Sl @ Mls s Fiflwmeor g):

A)Reducesstarting current ; gi6ué s Wlesr #MID @ ODE G D
B) Increases starting torque ; 6168 &bHs &&55 5&fldE 0D
C) Used for small motors ; 8w Gom”_L_miaomd @

D)None/ stgiajib &coemeo
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Answer: A
Explanation:
Star-Delta reduces initial current to about 1,3 of DOL current.

oroL_mi-@IL_6oL_1T geus s Wledr&mrsengd DOL et &mms Slesr 1/3 euemn @ omméd@Lb.

144. Which of the following DC motorsis called universal motor?

otibg DC @om”_Lmii weofleuiaed G’ Lmi 61651 1y Sicoip&aUiuHiSIms)?

A)Can run on ACand DC/ AC wihmidp DC aupriisseSleo Swihi@ b
B) Shunt, exgesort’
C)Series,; Qs

D) Compound ; @&ii&ema

Answer: A

Explanation:

Universal motors operate on both AC and DC supply.
woofleuigeo G _Lmiser AC whmib DC aupriis eSiepib Swibi@ .

145. Which of the following is correct about DC motor armature reaction
compensation?

DC Guni_Lmi i@ é&ii er&liieetoremer Fwesrauuiliy @& mlés &iflwmeor g:

A)Interpoles ; SemL_Bumsosseir
B) Compensating winding ; &#wesreuuSity & peir
C)Both A and B/ A wih o B Sresor (o

D) None/ stgiajib &coemeo

Answer: C

Explanation:
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Interpolesand compensating windings reduce armature reaction effect.
SooL_Bureossar HMID &wesTeuiltY s HeT SifGwé& & o1 Sliellewor cmor

S8 5608 (&) 60MD& @G LD.

146. Which of the following is correct about AC alternator characteristic?

AC oo iiBeorl’_L i & e HlHwhiserr @& MIGHs &flwmeorgy:

A) Voltage increases with load ; Beor™ nSlafli_cbr 1bl6ét cor (195 51D

91518116 @D

B) Voltage decreases with load ; Geom™ =iSlasfiy_ebr ilesreor(195 51D @ sHMUID
C) Voltage independent of load / iblesteor(19 851> Beom”_(hé@ Fmmss)

D) None / srgyeyib &eoomeo

Answer: B

Explanation:

Alternator voltage drops slightly with increasing load due to internal
impedance.

SicoL_fGeorL_L i 2_6ir e1SlT0L Snresorions Geom” igleflilled blesreor(1ps b

&FHEM &emmub.

147. Which of the following is NOT a function of DC motor starter?

DC @om™_Lmii gyené Slullesr uefl Dicoeon s g:

A) Limit starting current ; ieué8& Wledr&MrHoms s (HUU[HS S

B) Provide smooth acceleration ; GoeoeSlw 18l Gleuesor gmesor (H& 6o

C) Control motor speed continuously ; Gwori_L_ni Geus s ens GOsTLisHwins
sL_[HluuhS s

D) Reverse motor direction ; Gom”_Lmij & em&emw wrhmy
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Answer:C

Explanation:

Starter limits starting current and provides smooth start, but speed control is
separate.

5w S Hi6us6 WISTEMID &L (HUU[HISSID WHMID OILD6STEHWITEOT &1 S s

UG D: Gous &1 [HlUuN () &6flsgIauDT6oT 5.

148. Which of the following is the main application of universal motor?

weotlauiseco Gum’_Lmflesr (&Sl uwestum(h):

A) Domestic appliances, 6fi"_() &#ngcoriss it
B) Industrial drives ; @amdibheneneo Swé sibiser
C) Traction ; @&mL_geo

D)Synchronousdrives, 68 $loms Swé sihiaeir

Answer: A

Explanation:

Universal motors are used in vacuum cleaners, mixers, and power tools.
weotleuiseo G’ L miseir 651 () &1&corhissoifled, 6oL d & &F &6l L hH mb U

(B sosaifled LwesTU([HSSUU(HID.

149. Which of the following is correct about DC shunt motor starting method?

DC exgetor”_ Gom”_Lmi gleuss (peom & MdS Fiflwimeorg):

A) Use series resistance in armature ; S1i@uw & &fleo GsrLit er&litiy
B) Direct on Line ; @mimigq eufl

C)Star-Delta ; shoLmi-@L 6oL

D) Capacitor start ; @sun &L if s1euésibd
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Answer: A

Explanation:

Series resistance is used to limit starting current of shunt motor.
eg600T” Gom_ LI g16uss WISTETTSH 8 &L (HUuhss @S eTSliiy

uwesTU(HSSUUHISID S

150. Which of the following is correct about care and maintenance of AC
motor?

AC @om”_Lnflesr urmofliy @&mMlés &flwimeorgy:

A)Regular lubrication ; &s1"_L_mu &8ey
B) Cleaning terminals, (p emeor 8581
C) Checking insulation / ey (H@un et uf@&n s omeor

D) All of the above ; GoBev ge Hlwcmen Sicmeor & Gilb

Answer: D
Explanation:
Proper maintenance ensures efficient operation and long life of AC motors.

Fflwreor unmofliy AC Gun_Lmiseflesr G &weoSlmedr b mutb B esorL <ujeir

2_miSu@ISSID.
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